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With reference to the cultural history of India consider
the following pairs:
1. Parivrajaka - Renunciant and Wanderer.
2. Shramana - Priest with a high status.
3. Upasaka - Lay follower of Buddhism.
1 B 6 214

Which of the following pairs above are correctly
matched?

a)1land 2 only

b) 1 and 3 only

c) 2and 3 only

d) 1,2 and 3 only

Pratyeka Buddhas: Beings who have
attained enlightenment without
guidance but have not taught it to the
world.

« Arhat: Who that has achieved Nirvana. monks.

+ Bodhisattva: A being about to become

man. * Pravajya: Initial ordination for old and
* Sramanas/Bhikshu: Buddhist monks. experienced monks.
» Upasakas: Lay followers. * Sramanas: Buddhist monks, in general.
+« Astamahasthanas: Eight holy places. « Upajjhaya: Spiritual leader.
* Prajne Praramita: Female deity of » Sanketas: Four noble truths.
perfection and insight associated with | « Upasotha/Roya: Days of fast on full moon,
Mahayana. new moon, and two quarter moon days in
» Anatta: Soullessness. a month.
+ Samnera: Buddhist monks before + Chaitya: Temples of Buddhists.
being introduced into sangha as full- » Pratimoksha: Rules of 150 articles (a part

Sangha: Buddhist order.

Skandhakas: Monastic rules.
Poshadha: Fortnightly meeting in Sanghas.
Siddha: Perfected being in Vajrayana.
Sakra: Gold identical with Indra used by the

Buddha shows charity and helper of « Viharas: Buddhist monastery.

fledged member.
Praramita: Ten percepts (vows)
observed by monks.

of Vinay Pitaka).

With reference to Indian elephants consider the

following statements:

1. The leader of an elephant group is a female.

2. The maximum gestation period can be 22 months.

3. An elephant can normally go on calving till the age
of 40 years.

4. Among the states in India the highest elephant
population is in Kerala.

Which of the statements given above is /are correct?
a)1and2only

b) 2 and 4 only

c) 3 only

d) 1,3 and 4 only
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Which of the following protected areas are located in
Cauvery basin?
1. Nagarhole National Park
2. Papikonda National Park
. 300,
3. Sathyamangalam Tiger Reserve
4. Wayanad Wildlife Sanctuar 303,40, 59,
3 Sy y C 5,7 294,298 &
. . 103
Select the correct answer using the codes given below
a)1and 2 only
b) 3 and 4 only
c)13and4only
d)1,2,3and4

Sathyamangalam, Srivilliputhur Grizzled Squirrel, Theerthangal, Sakkarakottai,
Udayamarthandapuram Lake, Vaduvoor Birds, Vedanthangal Lake Birds,
Vellanadu Blackbuck, Vellode Birds, Vettangudi Birds.
provides a good link between the Eastern Ghats and the

Western Ghats.

- Nagarjuna Sagar-5Srisailam, Eturnagaram, Kawal, Kinnersani,
Lanja Madugu Siwaram, Manjeera Crocodile, Pakhal, Pocharam, Pranahita.

Gumti, Rowa, Sepahijala, Trishna.

T —

- Covering an area of 644 sq km, it is situated between the and
the

- The Nagarhole National Park mainly consists of
in the northern and western parts and dry deciduous forest in the south-
eastern part.

- They are . The Park is also home to tiger, sloth bear
and hyena, leopard, wild dog, spotted deer, sambar, barking deer, four-
horned antelope, wild boar, and gaur.

=

it is contiguous to the protected area

Nagarhole of Karnataka on the north-east and Mudimalai
on the south-east.

ersity, the sanctuary is an

Biosphere Resd , Which has been established with the specific objective
ical heritage of the region.

« Bandhavgarh Natid

ional Park; compact, yet full of game. The density of the
Bandhavgarh is the in India.

he Project Tiger Network in 1993,

d after the (807 m)
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Brahmagiri Hills. The river Hemawati, Lokpawvani,
thrice forks into 2 streams Suvamawvati, and Kabani.

& reunites a few miles
farther on, thus froming the
E———— islands of Srirangapattanam,
Sivasamudram, and Srirangam
im the eastern part of Tamil
Madu.

= The origin of the river is traditionally placed at Talakawveri, Kodagu in the Western
Ghats in Karnataka, flows generally south and east through Karnataka and Tamil
Madu and across the southern Deccan plateau through the southeastern lowlands,
emptying into the Bay of Bengal through two principal mouths.

« The river's basin covers 4 states and Union Territories - Karnataka (34,273 km?),
Tamil Madu (43,856 km?), Kerala (2,866 km*) and Puducherry (160 km*).

« Rising in southwestern Karnataka, it flows southeast some B00 km to enter the Bay
of Bengal.

= East of Mysore it forms the island of Shivanasamudra, on either side of which are
the scenic Shivanasamudra Falls that descend about 320 ft {100 m}.

in Karnataka are constructed
across Harangi and Hemawvathi rivers which are the tributaries of river Cauvery.

Downstream of these two dams is constructed across
main Cauvery in Karnataka. of Karnataka is constructed
across river Kabini a tributary of Cauvery joining it dfs of Krishna Raja Sagar

ir. is constructed across main stream of Cauvery in Tamil
een the confluence of Kabini with Cauvery and Mettur dam, Central
ission has established two G&D sites on main Cauvery namely
E . Billigundulu G&D site is about 60 km u/s of Mettur
auvery River forms its boundary with Karnataka and Tamil

State MNational Park Motability
Campbell Bay
Mahatma Gandhi Marine

Rani Jhansi Marine

Galathea
Impeortant bird area as
Mount Harriety Ross Island attributed by BirdLife
Andaman and Intermational
Nicobar Islands i idle Button Island
Saddle Peak

Morth Button Island

Dugong, dolphin, water
monitor lizard, blue whale
and smallest National
park in India

South Button Island

Papikonda
Andhra Pradesh Sri Venkateswara

Rajiv Gandhi (Rameswaram)
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NATIONAL PARKS AND WILDLIFE SANTUARIES

« DACHIGAM
SKISHTWAR

.

SULTANPL{R VALLEY OF FLOWERS

KAZIRANGA

KEOLADEO _
GHANA

RANTHAMBORE o Rnfz/é 7 SRk
c‘gf‘L}? toos NOKREK 2/KEIBUL LIMJAO
BANDHAVGARH® &

L epanna Y f"

P QPIL
N . Y
FOSSILe
NCH - A
O S SIML|PAL

»
MELGHAT 5 \ AT TARKANSA
BORIVALI J GREAT INDIAN .INDfAVA_]_I///
Bus?Af_::f{ o
' i
4
3
Bnﬂl‘lNEg HATTA
RANGANTHITO —
NAGARHOLE “/VEDANTANGAL

IDDUKK]
SILENT VALLEY—=
PERIYA

=« It is a protected area and tiger reserve along the Western Ghats.
- Sathyamangalam forest range is a significant wildlife corridor in

« The boundaries of the sanctuary contiguous with Billigiriranga Swamy Temple
Wildlife Sanctuary in the north and the
contiguous with Mudurmalai Mational Park and Sigur Plateau in the south. The

eastern boundary is formed by the Bargur and Bandipur
Mational Park in the west.

= The Sathyamangalam forest is , part of the South
Deccan Plateau dry deciduous forests ecoregion.

« There are five distinct forest types: {

With reference to India's biodiversity, Ceylon
frogmouth, Coppersmith barbet, Gray-chinned minivet
and White-throated redstart are:

4 a) Birds A
b) Primates

c) Reptiles

d) Amphibians

Which of the following protected areas is well-known
for the conservation of a sub-species of the Indian 304, 231,
swamp deer (Barasingha) that thrives well on hard 301, 307
ground and is exclusively graminivorous?
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a) Kanha National Park

b) Manas National Park

¢) Mudumalai Wildlife Sanctuary

d) Tal Chhapar Wildlife Sanctuary

- It comprises parts of the Mandla & Balaghat
, is internationally

and faunal attributes.
- The Reserve is a

chiefly by the , the latte

largely to the upper valleys and dadars near the g Maikal range

Once abundant throughout the tall wet grasslands of the North Indian
Terai region, the Brahmaputra flood plains, and the Central Indian
grasslands bordering sal forests. Currently, the swamp deer populations
are confined to the States of Uttarakhand, UP, Assam and MP. The Swamp
deer has declined over the years, as a result of loss of habitat and biotic
pressures over much of its former range. The Swamp deer habitats are
threatened due to change in river dynamics and human developmental
activities, increase in siltation, weed invasion, and reduced flow of water
during critical periods of summer. Swamp deer is also threatened due to
poaching for its meat, particularly the populations that occur cutside
Pas.

0 =1 =]

Swamp deer or
Barasingha

- It was created in
. The Reserve area falls in six districts, Kokrajhar, Bongaigaon,
Barpetan, Malbari, Kamrup and Darrang.
- There are at least . :
and the . The pygmy hogs are found, now
only in this Tiger reserve, into known former range of distribution, while the
Golden langur (Presbytis geei) have never been recorded beyond the limits
of this Tiger reserve.
- Mudumalai Wildlife Sanctuary & National Park is situated at the tri-
junction of Tamil Nadu, Kerala and Karnataka on the North Eastern Slopes
of the Nilgiris part of Western Ghats descending to the Mysore Plateau.
- With in the north and
in the west the region forms a single,
continuous viable habitat for a varied range of wildlife and is

- There are several species of poisonous and non-poisonous snakes, including

python.
that is found in the

sanctuary. Animals that are commonly seen by casual visitor are spotted
deer, Elephants, Common langur, an occasional Sambhur and Gaur.

Steel slag can be the material for which the followings?
1. Construction of base Road.

2. Improvement of agricultural soil.

3. Production of cement.

Select the correct answer using the codes given below:
a)1and 2 only

b) 2 and 3 only

¢)1and 3 only

d)1,2and3

Which of the following are the most likely places to find
the Musk deer in its natural habitat?

A 5 318,301
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1. Askot Wildlife Sactuary
2. Gangotri National Park
3. Kishanpur Wildlife Sanctuary
4. Manas National Park
Select the correct answer using the code given below:
a)1land 2 only
b) 2 and 3 only
c)3and 4 only
d) 1 and 4 only
was launched in 1987 at Dudhwal National Park.
started in Gir forest of Gujarat in 1972.
. Im Arunachal Pradesh
1 At Kedarnath in Uttarakhand.
: At 12 reserves throughout the Himalayas.
- It was created in
. The Reserve area falls in six districts, Kokrajhar, Bongaigaon,
Barpetan, Malbari, Kamrup and Darrang.
- There are at least . .
and the . The pygmy hogs are found, now
only in this Tiger reserve, into known former range of distribution, while the
Golden langur (Presbytis geei) have never been recorded beyond the limits
of this Tiger reserve.
In rural road construction, the use of which of the
following is preferred for ensuring environmental
sustainability or to reduce carbon footprints?
1. Copper slag
2. Cold mix Asphalt Technology
3. Geo textiles
3 4. Hot mix Asphalt Technology A
5. Portland cement
Select the correct answer using the codes given below:
a)1,2and3only
b) 2,3 and 4 only
c) 4 and 5 only
d) 1 and 5 only
Consider the following statements:
1. Coal Ash contains arsenic, lead and mercury.
2. Coal- fired power plants release Sulphur dioxide
and oxides of Nitrogen into the environment.
3. Highash tent is ob d in Indian Coal.
igh ash content is observed in Indian Coa 120, 240,
9 D 5,4 240
Which of the statements given above is are correct?
a) 1only
b) 2 and 3 only
c) 3 only
d)1,2and3
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= Indian coal is high in ash
content but low in sulphur
content. It also has high ash
fusion temperature.
= Some ‘oxics are metals or compounds of metals—for example,
mercury, arsenic, and cadmium. Others include asbestos, benzene, beryllium,
coke oven emissions, radionuclides (radioactive isotopes), and vinyl chloride.
In many countries, standards have been set to control industrial emissions of
several air toxics.

e Sulphur dioxide (SO2) is generally a by-product of GIEIEUFIGIR=EEEEET
ower generators

’
natural gas processing are the main contributors.
e The main source of NOx emissions is the of fuels in motor

utility boilers and engines, and other equipment.

What is the use of biochar in farming?

1. Biochar can be used as a part of the growing
medium in vertical farming.

2. When biochar is a part of the growing medium, it
promotes growth of nitrogen-fixing microorganisms

3. When biochar is a part of the growing medium, it

10 enables the growing medium to retain water for a
longer time.

Which of the statements given above is are correct?

a)1and 2 only

b) 2 only

c)1and 3 only

d)1,2and3

In India which of the following can be considered as

public investment in agriculture?

1. Fixing minimum support price for agriculture
produce of all crops.

2. Computerization of Primary agricultural credit
societies.

3. Social capital development.

4. Free electricity supply to farmers.

11 | 5. Waiver of Agricultural loans by the banking system. C

6. Setting up of cold storage facility by the

governments.

CA
Suppleme
nt, Eco 33,13, 14-
Survey 15
Volume
1&2

Select the correct answer using the code given below:
a)1,2and5only

b) 1, 3,4 and 5 only

c) 2,3 and 6 only

d)1,2,3,4,5and6
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Q:6) Which of the following are
recommendations of the Shanta Kumar
Committee, set up to look into the
restructuring of Food Corporation of
India (FCI)?

1. allowing private players to procure
and store food grains

2. stopping bonuses on minimum
support price (MSP) paid by states to
farmers

3. reducing the number of
beneficiaries under the Food Security
Act - from the current 67 per cent to 40
per cent

4. FCI should involve itself in full-
fledged grains procurement only in those
states which are poor in procurement

Select the correct answer using the code
given below.

A. 2and3only

B. 1and4 only

C. 1,3 and 4 only

D. 1,2,3and 4
Answer : D

Level : Hard
Subject : Current Affairs
Explanation :

Crackias.com Page 9 of 71



Our Performance 2020

NO.

Question in UPSC GS Prelims Paper -1 2020

Correct
Answer

Located in CrackIAS

notes

Set No.

Book Page
No.

Shanta Kumar Committee Report

The high level committee set up to look
into the restructuring of Food Corporation
of India has recommended reducing the
number of beneficiaries under the Food
Security Act—from the current 67 per cent
to 40 per cent. It has also recommended
allowing private players to procure and
store food grains, stopping bonuses on
minimum support price (MSP) paid by
states to farmers, and adopting cash transfer
system so that MSP and food subsidy
amounts can be directly transferred to the
accounts of farmers and food security
beneficiaries. The panel estimates the
government will save Rs 33,000 crore by
adopting cash transfer method, by avoiding
costs on procurement, storage and
distribution.

Source :
https://www.downtoearth.org.in/news/redu
ce-food-security-benefits-from-67-to-40-
population-says-panel-on-restructuring-fci-
-48344
¢« Undertakes storage and
procurement through
administrative
machinery.
+ The last stage is the
distribution of cereals
across the country
through the PD5S.

Incentives to innovations.
Increasing market integration.

= Smooth flow of goods and services.

b. Food Grain Policy

= Procurement operations of wheat, paddy, and rice need to be given to states.

= FCI should primarily focus on creating competition in every segment of food
grain supply chain, from procurement to stocking to movement and finally
distribution in TPDS.

* At the macro level, the agricultural marketing, trade (both domestic and foreign)
and distribution policies need to be aligned with that of farmer's interest.

Crackias.com
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What is the importance of the term "Interest coverage
ratio" of a firm in India?
1. It helps in understanding the present risk of a firm
that a bank is going to give loan to.
2. It helps in evaluating the emerging risks of a firm
that bank is going to give loan to.
3. The higher borrowing firm's level of Interest
12 Coverage Ratio, the worse is its ability to service its A 7 32,34

debt.

Select the correct answer using the codes given below:
a)1and 2 only

b) 2 only

c) 1and 3 only

d) 1,2 and 3 only

e NPA or bad assets problem, RBI has designed several mechanisms.
among them is the Provisioning norms. Provisioning is a part of
tial regulation norm.

\ng, banks have to set aside or provide funds to a
ge of their bad assets. The percentage of bad asset that

is called -

erage ratio is the that the
for (keep money) from their own funds —most probably

visioning coverage ratio is 70% for a particular category
ve to set aside funds equivalent to 70% those bad assets
most cases).

e Undeniably, NBFCs havedonea inrece
deepening access to credit by taking a share from the
which have been severely affected by the bad loans crisis. H
liquidity norms for NBFCs are still necessary to ward off systemic

e LCR is a requirement under whereby banks are required
to hold an amount of high-quality liquid assets that’s enough to fund cash
outflows for 30 days.

e Non-banking financial companies (NBFCs) are entities or institutions that
provide certain bank-like and financial services but

e NBFCs are and oversight by federal
and state authorities adhered to by traditional banks.

» Investment banks, mortgage lenders, money market funds, insurance companies,
hedge funds, private equity funds, and P2P lenders are all examples of NBFCs.

Which of the following factor policies were affecting the Eco
price of rice in India in the recent past? Surve
13 | 1. Minimum support price D y 12,13
. Volume
2. Government trading
- 1&2
3. Government stockpiling
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4. Consumer subsidizes

a)1,2and4only

b) 1,3 and 4 only

c) Two and three only
d1,2,3and4

Select the correct answer using the codes given below:

Market Distortion:

Act decreases free trade and flow of
commeodities from surplus to deficit
markets.

Commodity derivative

markets also suffer due to the non-
delivery of such commodities owing
to the stock ceiling.

Harassment of traders due to raids in
turn disincentive the entry of

the Private Sector.

Crowding out of Private Sector:
Due to Government acting

as a monopsonist (Single Buyer)
Most of the grains are hoarded by the
government, little left for the market.

Consider the foIIow%g:

3. Inthe last five-year

a)1and 2 only
b) 2 only

c. 3only

d) 1, 2and 3

1. The value of Indo Sri Lanka trade has consistently
increased in the last decade.

2. Textile and textile articles constitute and important
items of trade between India and Bangladesh.

Which of the statement given below is are correct?

Nepal has been the largest

14 trading partner of India in South Asia. B

15

In which one of the following groups are all the four
countries member of G20?

a) Argentina, Mexico, south Africa and turkey

b) Australia, Canada, Malaysia and New Zealand

c) Brazil, Iran, Saudi, Arabia and Vietnam

d) Indonesia, Japan, Singapore and South Korea

15

Crackias.com
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Cancun, Includes « The G-20 developing nations is also called
Mexico countries due to fluctuating membership.
like China, « Emerged at 2003 Cancun WTO Summit when
2003 Indonesia, foreign ministers from
almost all signed a declaration known as the
23 Members | countries of
South America
India - except
Colombia,
Mexico,
Turkey, Egypt,
and South
Africa.
Under the kinas credit card scheme short term credit
sport is given to farmers for which of the following
purpose?
1. Working capital for maintenance of farm assets.
2. Purchase of combine harvester’s tractors and mini
trucks.
3. Consumption requirements of farm household.
4. Post-harvest expenses.
16 P D 2 28

5. Constructions of family house and setting up of
village cold storage facility.

Select the correct answer using the codes given below
a)1,2and5only

b)1,3and4

c) 3,4 and 5 only

d)1,2,3,4and 5

» General Credit Cards (GCC): Banks were asked by the RBI to launch and
offer GCC facilities with an amount of up to Rs. 25,000 at their branches
located in semi-urban and rural areas.

» Kisan Credit Cards (KCC): The RBI also instructed banks to provide Kisan
Credit Cards exclusively to small farmers who earn very low incomes and
who have very limited funds due to which they cannot invest in proper farming
tools, fertilisers, pesticides, crop seeds, tractors, land for farming, storage
warehouses, etc. They are forced to rely on other wealthy landlords for getting
land to sow crops. These Kisan Credit Cards are intended to help farmers make
instant purchases whenever required.

Consider the following statements:
1. The wastage of food in Consumer Price Index (CPI)
is higher than that in Wholesale Price Index (WPI).
2. The WPI does not capture changes in the prices of
services, which CPI does. 2 India &
3. Reserve Bank of India has now adopted WPI as its ! 119, 30,
. . . . A Eco
key measure of inflation and to decide on changing 197
. Survey
the key policy rates.

17

Which of the following statements given above is /are
correct?
a)1and2only
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b) 2 only
c) 3 only
d)1,2and3

s In India, Office of Economic Advisor (OEA), Department of Industrial Policy
and Promotion, Ministry of Commerce and Industry calculates the WPI.

s Itis an index that is used to measure inflation in India using the average
price level of goods traded in wholesale market.

= Base Year for WPI is 2011-12 (e=arlier year 2004-05). The new base year
aligns with the base year of other indicators like the GDP and Index of Industrial
Production (IIP}).

s Inflation is usually measured at constant price which is based on a base
yvear generally taken 6 to 10 years prior to the current yvear and not at current
price. This is done to avoid any price level fluctuation and have uniformity in
scale while doing a comparative analysis of inflation on yearly time series.

s A data of total 697 commodities on price level is tracked (of which 117 are
Primary Articles, 564 manufactured products and 16 Fuel & Power related
products). Earlier, a data of only 676 commeodities was analysed. Thus,
highest weilghtage is given to manufactured products followed by primary
articles, and fuel & power.

= 'WPI is the most widely used price index in India. It is also the price index
which is available on weekly basis with the shortest possible time lag only
2 weeks. Inflation is calculated on a weekly basis and announced on every
Friday.

« The prices used for compilation do not include indirect taxes in order to
remove impact of fiscal policy. This is in consonance with international practices
and will make the new WPI conceptually closer to Producer Price Index
(PPI).

s Working Group under Abhijit Sen recommended switching over from WPI
to Producer Price Index. PPI measures price changes from produces”
perspective as against consumers’ perspective. PPI is considered to be a
better measure of inflation as price changes at primary and intermediate
stages can be tracked before it gets built into the finished goods stage.

+» Wholesale Food Price Index (WPFI) has been introduced - combining
the Food Articles (belonging to the group Primary Articles) and Food Products

belonging to the group Manufactured Products). Together with the Consumer

ice Index (CPFI) released by Central Statistics Office, this would
the price situation of food items better.

dices (CPI)

he WPI to caiculate and then decide the rate of inflation
st other countries like the USA, the UK, Japan, France,
d China use the CPI to calculate inflation, as this actually
in price that a consumer will ultimately have to pay for.
e-series measure of a weighted average of prices of a
and services purchased by consumers.

price index and considered by some a cost of living
index is scaled so that it is equal to 100 at a chosen point

Crackias.com Page 14 of 71
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in time, so that all other values of the index are

e While the WPI is published on a weekly basis
monthly basis.

e There are 4 Consumer Price Indices measuri
general level of prices of goods and servicesfor4 d
groups:

e CPI for Urban Non-Manual Employees (CPI-UN

CPI for Industrial Workers (CPI-IW)

CPI for Agricultural Labourers (CPI-AL)

CPI for Rural Labourers (CPI-RL)

e These are compiled in terms of the general standards and gui
the International Labour Organization (ILO) for all the member countries.

e CPI-IW is the most well-known of these indices as it is used for wage
indexation in Government and organized sector. CPI-AL is used for revising
minimum wages for agricultural labourers in different States.

e While CPI-UNME is compiled and released by Central Statistical Organization
(CSO), under the Ministry of Statistics and Programme Implementation; the
rest three are compiled and released by Labour Bureau, under the Ministry
of Labour. It has been discontinued w.e.f. December, 2010.

e From January 2011, India adopted the new CPI that reflects the actual
movement of prices at the micro-level. The CSO has introduced the new
series of consumer price indices for All-India, and States and UTs separately
for Rural, Urban and Combined for the purpose of intra temporal price
comparison with 2010 as the base year.

e New CPI is likely to help policymakers like the RBI in better framing of
decisions. The consumer indices have been released for 5 major groups —
food, beverages and tobacco; fuel and light; housing; clothing, bedding and
footwear; and miscellaneous with highest weightage to Primary Goods.

* Consumer Price Index (Base 2012=100) separately for rural, urban & combined
population are released every month for all states/ UTs from Jan 2011 with 2012 as base year
by CSO.

= Ministry of Statistics monitors performance of country in 11 sectors such as: Power,
Coal, Steel, Railway, Telecommunications, Port, Fertilizer, Cement, Petroleum and Matural
Gas, Roads and Civil Aviation.

* The data collected on rural retail prices are used for compiling the consumer price index
(CPI for agricultural labourers. At present, the Labour Bureau, Ministry of Labour,
compiles and publishes the CPI for agricultural labourers. A new commodity basket
consisting of 260 commodities was adopted in 1986 with a view to reflect the price changes
in respect of the current consumption pattern of the agricultural labourers. The price data for
the new commodity basket are collected every month from a fixed set of 603 villages/
markets spread over 26 states / UTs.

* Consumer Price Index CPI (Urban): The collection of prices is being done by NSSO from
310 towns. The CPI (U) scheme collects the prices of goods on the basis of three broad
segments of the population (viz. affluent, middle and poor.

* Wholesale Price Index (WPI): On the request of Department of Industrial Policy and
Promotion (DIPP), NSSO is facilitating the Office of the Economic Adviser in price data
collection for existing series as well as New Series of WPI. The Base year for the Existing
Series of WPI is 2004-05. New Series of WPI is with base year 2011-12.

= (SO releases Consumer Price Indices also at group and sub-group levels. It is to be stated
that "Food and beverages’ as a whole has 45.86 per cent share. Therefore, food items are
generally the major drivers of overall inflation rate based on CPL.
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Whole Price Index

* WPI measures average change in the prices of commodities for bulk sale at the level of early
stage of transactions. It covers commodities under 3 major groups - primary articles, fuel
and power, and manufactured products.

= So far, six revisions have taken place introducing the new base year, viz. 1952-53, 1961~
62, 1970-71, 1981-82, 1993-94 and 2004-05. The current revision is the seventh since its
regular introduction.

= In the revised WPI basket, the number of items has been increased from 676 to 697. Efforts
have been made to enhance the number of quotations from 5482 to 8331.

Consider the following pairs:

River Flows into

1. Mekong Andaman Sea

2. Thames Irish Sea

3. Volga Caspian Sea

4. Zambezi Indian Ocean 23(P1),52(P
18 C 1 2),53(P3),9

Which of the pairs given above is/are correctly 2(P4)

matched?

a)1and2only

b) 3 only

¢)3and 4 only

d) 1,2 and 4 only

e« The flows in a valley to the east and p
After leaving China, the Mekong makes the b
Laos and then continues through the heart of Cambodia. I
southern tip of Vietnam, and finally empties into the
capital cities of Vientiane (Laos) & Phnom Penh (Cambodia) are located along
bank of Mekong River.

Morth Westward flowing rivers such as
and of Germany, of Netherlands and Germany,
ﬂ?‘nce into English Channel; Thames, Trent, Tweed of England

= =l e e ==k
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Passes through (between
Vosges & Black Forest-both are block
. mountains). is located on

Rhine North sea it. Passes through Germany, France &
Metherlands. Makes boundary between
France & Germany for a long distance.

Rhone Gulf of Lions- Passes through rift valley. Connected with

Mediterranean Rhine through a canal.

Forms border between Slovakia &
Hungary, Serbia & Romania, Romania
& Bulgaria. Vienna (Austria), Bratislava

Danube Black sea (Slowakia), Budapest (Hungary), Belgrade
(Serbia) & Bucharest (Romania) are
important Capitals located on it.

. Passes through Russia, Belarus & Ukraine

Dniper Black sea ;
( located on it)

Dneister Black Sea Makes boundary between Ukraine and

Moldova.

Don Sea of Azov Exclnl:.mwel'f in Russia. located on

Volga Caspian sea river of Russia

Seine English channel located on it

Po Adriatic Sea Important for agriculture

Tiber Tyrrhenian Sea located on it
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L. Edward = ﬁ yog
L. Tanganyika ‘& \ \ L. Victoria
‘' _s_ L. Nvasas Malawi
9
VICTORIA, FALLS \L U
\d_/ R. Zambezu 3
Consider the following statements:
1. Inthe case of all cereals, pulses and oil-seeds, the
procurement at Minimum Support Price (MSP) is
unlimited in any state/UT of India.
2. Inthe case of cereals and pulses, the MSP is fixed in CA
any state / UT at a level to which the market price Suppleme
19 will never rise. D nt & India 160, 21
& Eco
Which of the statements given above is / are correct? Survey
a) 1 only
b) 2 only

c)Both 1and 2
d) Neither 1 nor 2
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():12) Consider the following statements :

1. The Commission for Agricultural
Costs and Prices determines the Minimum
Support Prices of various agricultural
commodities in India.

2. Minimum Support Price is a form of
market intervention by the Government of
India to insure agricultural producers
against any sharp fall in farm prices.

Which of the statements given above
is/are correct?

A. 1 only

B. 2 only

C. Both 1 and 2
D. Neither 1 nor 2
Answer : B

Level : Hard
Subject : Current Affairs
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Explanation :

Minimum Support Price (MSP) is a form of
market intervention by the Government of
India to insure agricultural producers
against any sharp fall in farm prices. The
minimum support prices are announced by
the Government of India at the beginning of
the sowing season for certain crops on the
basis of the recommendations of the
Commission for Agricultural Costs and
Prices (CACP). MSP is price fixed by
Government of India to protect the producer
- farmers - against excessive fall in price
during bumper production years. The
minimum support prices are a guarantee
price for their produce from the
Government. The major objectives are to
support the farmers from distress sales and
to procure food grains for public
distribution. In case the market price for the
commedity falls below the announced
minimum price due to bumper production
and glut in the market, government agencies

Determinants of MSP

While recommending price policy of various commodities under its mandate, the Commission
keeps in mind demand and supply, cost of production, price trends in the market, both
domestic and international, inter-crop price parity, terms of trade between agricultural and
non-agricultural sectors, likely implications of MSP on consumers of that product, besides
ensuring optimal utilization of natural resources like land and water.

It may be noted that cost of production is an important factor that goes as an input in
determination of MSP but it is not the only factor. Thus, recommending MSPs of various crops
is not a ‘cost plus’ pricing exercise, though cost is an important determinant.

20

With reference to the Indian economy, consider the

following statements:

1. 'Commercial paper'is a short-term unsecured
promissory note.

2. 'Certificate of Deposit' is a long-term instrument
issued by the Reserve Bank of India to a
corporation.

3. 'Call money' is a short-term finance used for inter
bank transactions.

4. 'Zero-Coupon Bonds' are the interest bearing short-
term bonds issued by the Scheduled Commercial
Banks to corporations.

C 2 62, 106,107

Which of the statements given above is/are correct?
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a)1land2only

b) 4 only

c) 1and 3 only

d) 2,3 and 4 only

. ommercial Paper Is an unsecured money
the form of a promissory note. Corporates, pr
financial institutions are allowed to issue CP. It ca
between a minimum of 7 days and a maximum up
of issue.

» Certificate Of Deposit is a negotiable money mark
issued in dematerialized form or as a Promissory Note.
CDs for maturities from 7 days to 1 year whereas eligible FIs can issue Tor
maturmes 1 year to 3 years.

« Call Money Market or Interbank Call Money
market which allows for large financial institu
funds and corporations, to borrow and len
at interbank rates. The loans in the call m
usually lasting no longer than a week (predo
often used to help banks meet reserve require
call money market are typically transacted based
Offer Rate (LIBOR). Call money is money loa
be repaid on demand. Unlike a term loan, which
payment schedule, call money does not have to follo
does the lender have to provide any notice of repaymenty

3. Zero Coupon Bonds - bonds with no coupon payments. Like Treasury
Bills, they are issued at a discount to the face value. Gol issued them in
the nineties.

4. Capital Indexed Bonds — these are linked to an accepted index of inflation
to protect the holder from inflation. First issued in 1997 and matured in

E—2002.

If a particular plant species is placed under schedule VI

of The Wildlife Protection Act, 1972, what is the

implication?

a) Alicense is required to cultivate that plant

21 | b) Such plant cannot be cultivated under any A 5 232

circumstances.

c) Itis genetically modified crop plant.

d) d) Such a plant is invasive and harmful to the

ecosystem.

« Wildlife Protection Act, 1972 was further amended in 2006 to mccrrpcrmte the

creation of the

= It has which give varying degrees of protection-

- Species listed in Schedule I and Part II of Schedule II get absolute protection

— offences under these are prescribed the highest penalties.

- Species listed in Schedule III and Schedule IV are also protected, but the

penalties are much lower.

- 5chedule V includes the animals which may be hunted.

- The plants in Schedule VI are prohibited from cultivation and planting.
With reference to the period of Gupta dynasty in
ancient India, the towns Ghantasala, Kadura and Chaul
were well known as

22 a) Ports handling foreign trade A 6 279

b) Capitals of powerful kingdoms

c) Places of exquisite stone art and architecture.
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d) Important Buddhist pilgrimage centers.
« The Satavahanas constructed a large number of stupas at . .

1 y and . Fine examples
of architecture-sculpture of this period are the , Buddhist
caves in Masik, Kalyan, and elsewhere, and the stupas of Amaravati.

What |§ / arg the advantage / advantages of the zero B5(P105-

tillage in agriculture?

a)1and2onl P2), 5(P
23 | ) and3 Only D 5,9 267-P3) &

y B9(P230-
c) 3 only P1)
d)1,2and3

- Reduced or requires less machine use. However, it increases
use of weed-control chemicals and the residue left on the soil surface is
more likely to release its CO, to the atmosphere as it decays, reducing the
net carbon reduction. In case of post-harvest crop residues, rather than
releasing almost all of the stored CO, to the atmosphere by

, tillage incorporates the biomass back intc the soil where a
portion of it is stored permanently.

-

¢ (i:e. no -t.illa_g-;e) fhrougl:t dlrect
or fertilizer placement.

2. Permanen (at least 30%) with crop residues and/or

3. Species diver?

through varied crop sequences and associations
three different crops.

How do we control the practice of Stubble Burning?

e As for stubble burning, we need to stop this practice for sure. But how do we do it?
Farmers do it out of economic compulsion. The “city centric” argument is that Punjab

now produces 25% more rice than what it did 15 years ago, which is good for the

country, but bad for Delhi. Others argue that the Punjab Preservation of Sub-soil

Water Act 2009 is the main culprit. There are many who believe that a generous

distribution of direct seeders (or "Happy Seeders” as they are called) should make the
difference.

e Essentially, there are three options: Reduce paddy area/production, allow farmers to
plant/transplant paddy before June and distribute “happy seeders”. This will, according
to many, address the prublem of air pollution in Delhi during October and November.

e Reduction in production of paddy:

According to India's national policy on biofuels, which of
the following can be used as raw material for the
production of biofuels?

1. Cassava

2. Damage wheat grains

3. Groundnut seeds

4. Horse gram A 7 90
5. Rotten potatoes

6. Sugar beet

24

Select the correct answer using the code given below:
a)1,2,5and6only
b) 1, 3, 4 and 6 only
c)2,3,4and5 only
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d)1,2,3,4,5and6

NATIONAL POLICY ON BIO-FUEL (NPB), 2018

» Recently ministry has issued Gazette Notification on "Guidelines for sale of
Biodiesel for blending with high speed diesel for transportation purposes-2019.

= The National Policy on Biofuels-2018 was notified in 2018. It allows production
of ethanol from damaged food grains like wheat, broken rice etc. which are
unfit for human consumption.

= The National Policy on Biofuels-2018 envisages an indicative target of

of ethanol in petrol and of bio-diesel in diesel by 2030.

= Under , ethanol blending in petrol
is being undertaken by the Oil Marketing Companies (OMCs) in whole country
except island Union Territory (UT) of Andaman MNicobar and Lakshadweep
wherein, OMCs blend up to 10% ethanol in petrol under the EBP Programme.

= Use of damaged foodgrains and surplus foodgrains for production of ethanol will
for EBP Programme.
« During the ethanol supply year 2017-18, 150.5 crore litres of ethanol
was blended in Petrol which resulted in foreign exchange impact of about Rs.
3070 crore and carbon emission reduced to the extent of 29.94 lakh tonnes.

= Government has approved to provide
Viability Gap Funding (VGF) to Second Generation bio-ethanol manufacturing
projects to increase availability of ethanol for EBP programme.

= Government has decided to quality w.e.f. 1st April,
2020 in the entire country. Considering the rise in environmental pollution in
Mational Capital Region, Government has started supply of BS-VI auto fuel in
Mational Capital Territory of Delhi from 1st April, 2018.

er, in line with the directions issued by Ministry of Petroleurn and Natural

ly of BS-VI auto fuel has started in ten districts of National Capital

three other districts/cities outside of National Capital Region

ur and city of Agra) w.e.f. 1st April, 2019.

: will also be available.

Salient Features of

s biofuels as viz. First Generation (1G)
Bl and - Second Generation (2G)
id Waste (MSW) to drop-in fuels, Third Generation (3G)
. to enable extension of appropriate financial and fiscal
category.

expands for ethanol production by
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allowing use of Sugarcane Juice, Sugar containi

Sweet Sorghum, Starch containing materials like (

grains like wheat, broken rice, Rotten Potatoes,

for ethanol production.

Farmers are at a risk of

during the surplus production phase. Taking this in

use of surplus food grains for production of ethan®

with the approval of Committee.

With a thrust on Advanced Biofuels, the Policy indi8 viability gap
scheme for 2G ethanol Bio refineries of Rs.5000

addition to additional tax incentives, higher purchase price a

biofuels.

The Policy encourages setting up of for biodiesel

production from non-edible oilseeds, Used Cooking Oil, short gestation crops.

of all the concerned Ministries/Departments with
respect to biofuels have been captured in the Policy document to synergise
efforts.

25

Which one of the following statements best describe

the term "social cost of carbon"?

a) Itis a measure, in monetary value, of the long-term
damage done by a tonne of CO2 emission in a given
year.

b) Requirement of fossil fuels for a country to provide
goods and services to its citizens were based on the
burning of those fuels.

c) Efforts putin by a climate refugee to adapt to live in
a new place.

d) d) Contribution of an individual person to the
carbon footprint on the planet Earth.

26

With reference to pulse production in India, consider

the following statements:

1. Black gram can be cultivated as both kharif and rabi
crop.

2. Green-gram alone accounts for nearly half of pulse
production.

3. Inthe last three decades, while the production of
kharif pulses has increased, the production of Rabi
pulses has decreased.

Which of the following statements given above is/are
correct?

a) 1only

b) 2 and 3 only

c) 2 only

d)1,2and3

27

"The crop is subtropical in nature. A hard frost is
injurious to it. It requires at least 210 frost-free days
and 50 to 100 centimeters of rainfall for its growth. A
light well-drained soil capable of retaining moisture is

A 1 138,139
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ideally suited for the cultivation of the crop". Which one
of the following is that crop?

a) Cotton

b) Jute

¢) Sugarcane

d) d)Tea

The cotton cloth is generally manufactured from cotton. Cotton is of many types:

The length of long staple cotton fibres is in-between
about 40 mm to 65 mm. and cotton is of this type. The
long fibre cotton is the of cotton. Along with its length, the fibre of
this type of cotton is also bright and soft.

The length of medium staple cotton fibre is in between
25 mm to 40 mm. This type of cotton has more importance from
point of view. The cotton of belongs to this type.

Short staple cotton is of and the length
of the fibre is less than 25 mm. This type of cotton is found in
and

The cotton growing areas of the world are extended upto

in Northern hemisphere and upto in the
Southern Hemisphere.

Warm climate with — The great plain of
moderate rainfall, plenty of northern China, along Hwang Ho,
sunshine during growing period wei He Walleys; Szechwan and
but cooler condition during Yangtze valley.
harvest. — Central and southern

21-27° C. 200 Deccan (Karnataka, Tamil Nadu,
frost free days. and Maharashtra), Upper Ganges

Moderate to light Valley.
rainfall 20 cm to 40 cm. Rain — MNew England, Atlantic
just before the harvest damages Coast and piedmont, Tennessee
the crop. Valley, Mississippi flood plain,

well drained swoil (Cannot Black Waxy Prairies, Morth West
tolerate water logging), black Texas and Oklahoma, Southern
cotton soil (regur in India) and Texas.
medium black soil; alluvial soils — VMalley of Indus,
when irrigated. Punjab & Sindh.

Large, cheap, and — Uzbekistan, West of
skilled labour force. Caspian Sea in Azerbaijan and

Armenia.

__

28

With reference to the solar water pumps, consider the

following statements:

1. Solar power can be used for running surface pumps
and not for submersible pumps. D 1,4

2. Solar power can be used for running centrifugal
pumps and not the one with piston.

170, 255-
256
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Which of the following statements given above is/are
correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

e Rural electrification: Developing countries where

The are
photovoltaic and thermal collectors. convert solar
radiation directly into electricity, without the use of any heat engine, and are
increasingly popular in building integration purposes (such as using photovoltaic
tiles as roof shingles) as well as for small- and large-scale devices, from watches
to satellites. can be used for domestic heating and
hot water, but large sclar collection plants can also be used for industrial heat
purposes or for electricity generation based on the same mechanisms as fossil
fuels. It is also possible to utilise solar energy for desalination, distillation and
detoxification of water supplies, an increasingly important use.

* Photovoltaics (PV) is a method of generating electrical power by
solar radiation direct currentelectricity using semiconductors that exhibit
the photovoltaic effect. Photovoltaic power generation employs solar panels
comprising a number of cells containing a photovoltaic material.
for photovoltaics include mono-crystalline silicon,
-crystalline silicon, amorphous silicon, cadmium telluride, and copper
glenide/ sulfide. Due to the growing demand for renewable energy
g manufacture of solar cells and photovoltaic arrays has advanced
Q) recent years.

Applications

« In buildings: ovoltaic arrays are often associated with buildings: either
, mounted om them or mounted nearby on the ground.

« In transport: ps traditionally been used for electric power In space, but
ingly to provide auxiliary power in boats and cars. A self-
le would have limited power and low utility, but a solar-
d allow use of solar power for transportation.

« Standalone devig solar powered remote fixed devices hawve seen

increasing use recently in locations where signi
grid power prohibitively expensive. Such appli
parking meters, emergency telephones, tempo
guard posts & signals.

than 5 kilometers away from grid power have b
remote locations in India a rural lighting progra
powered LED lighting to replace kerosene lamps.
Design studies of large
satellites have been conducted for decades.

29

With reference to the current trends in the cultivation

of sugarcane in India consider the following statements:

1. A substantial saving in seed material is made when
“bud chip settlings” are raised in a nursery and C 4 118,119
transplanted in the main field.

2. When direct planting of setts is done, the
germination percentage is better with single-
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budded setts are compared to setts with many
buds.

3. If bad weather conditions prevail when setts are
directly planted, single-budded sets have better
survival as compared to large setts.

4. Sugarcane can be cultivated using settlings
prepared tissue culture.

Which of the statements given above is are correct?
a)1and 2 only
b) 3 only
c)1and 4 only

d) 2,3 and 4 only

WAYS OF PROPAGAT]

and pistils, respectively) in one bloom or have
and female organs e.g: Onion, Papaya, Brinjal e
Another method available to perma
from their garden is tasking a cutting. This me
living plant and allowing it to develop its own roo
healthy stems with no flower buds on them, and
that the potential rooting surface is maximized e.
Grafting is a more advanced method of
the splicing of a stem from one plant onto the root
tissues of the two plants will then fuse, allowing the ste
nutrients and water being absorbed by the rootstock e.g:
Budding is a form of grafting. Rather than using a
bud is taken from one plant and grafted into the rootstock of another. e.g:
Birch, maple
Propagation by division involves separating a whole plant into
several smaller pieces, each of which can then become new, independent
plants. E.g: money plant.

he natural way flowering plants reproduce. The plants
ich either contain both male and female parts (stamens

30

In the context of India, which of the following is/are
considered to be practice(s) of eco-friendly agriculture?
1. Crop diversification

2. Legume Intensification

3. Tensiometer use

4. Vertical farming

Select the correct answer using the code given below
a) 1,2and 3 only

b) 3 only

c) 4 only

d) 1,2,3and4only

105
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Question in UPSC GS Prelims Paper -1 2020

: water harvesting, buildin
evaporation, conveyance through closed pipes,
sprinkler irrigation.

: cover soil with leaw
organic manures like cattle dung, urime etc., and u
like jalshakti (one gram stores hundred grams of wa

reduce soil erosion by ploughing
direction, using seeds fertilizer drill in which no ploughin
ploughing due to which little water comes to the surface;
moisture.
Drought resistant, pest resistant seeds and seeds that
require less water and having short maturity period need to be developed.
use of compost, bio-fertilizers,
agricultural wastes and a limited use of chemical fertilizers.

: Integrated Pest Management needs to be applied
as it also involves the integrated scheme of mechanical methods like light
traps, fencing, vibrators and biclogical controls like promotion of predators.

ensures efficiency from
ploughing till the collection of food and fodder.
. Scientific Management of Forests and use
of scientific technigues in rearing of animals in dryland areas.

: done by deep tillage and surface
tilage. Deep tillage allows maximum rain water intake, a good seed bed, and
effective weed control. Surface tillage helps to conserve soil moisture.

(Population): During Kharif season,
there is adegquate moisture available, thus slightly higher population is desirable.
Weeds can be controlled by off-season

tillage, proper seed-bed preparation, timely sowing, and using weedicides.

: crops like cluster beans and castor beans stabilize crop
production in rainfed areas.

: legumes fix atmospheric nitrogen and offer
an efficient land use in terms of time and space.
: Use of contour bunds, check dams,
vegetative barriers. "Khadins” and "Rela”™ are dryland farming methods.

is the practice of growing two or more crops in the same
piece of land in same growing seasons instead of one crop.

31

With reference to foreign direct investment in India,

which one of the following is considered its major

characteristic?

a) ltis th(.a mvgstm.ent through capital instruments 160,161,16
essentially in a listed company. B 2 )

b) Itis alargely non-debt creating capital flow.

c) Itisthe investment which debt- servicing.

d) d) Itis the investment made by foreign institutional
investors in the government securities.

= FII and FDI: As per new definition, where an investor has a stake

= 'FDI" means investment by non-resident entity/person resident

of 10 percent or less in a company, it is treated as FII and, where
an investor has a stake of more than 10 percent, it will be treated
as FDI.

outside India in the capital of an Indian company under Schedule 1
of Foreign Exchange Management (Transfer or Issue of Security by
a Person Resident Outside India) Regulations, 2000.
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= Foreign direct investments (FD[z) are of

purchases made by a company in a foreign

plants and buving budldings, machines, facto

the foreign country. These [ypes of investmer

of favour. 35 they are generally considerad lo

help bolster the foreign country’s econamy.

= Foreign indivect investments o foreign instituti.

carporations, Anancial institutions and private inve.

positions 0 foreign companies that trade an a foreig

genearal, this form of foreign investiment is less favourab

campany can easily sell off thair investmeant very guickly, sofl

days of the purchase. This Dype of investment is glso somebimes referred

o a5 & forefgn portfolio investment (FRT). Indirect investrmeants include

not only equity instruments such as stocks, but also debt instruments such

as bonds.
Foreign Direct Investment in India
« FDI is long term, stable and non-debt creating and
reinvested earnings and inter-company debt transaction
+« Rangarajan Committee (1996 and N.K. Singh Pane!| {200
by government to promote FDI in India
« A foreign company planning to set up business operations in India may:

« Incorporate a company under the Companies Act, 1956, as a Joint Venture
or a Wholly Owned Subsidiary.

s Setupa liaison Office/ Representative Office or a Project Office or a Branch
Office of the foreign company which can undertake activities permitted
under the Foreign Exchange Management {(Establishment in India of Branch
Office or Other Place of Business) Regulations, 2000,

« An Indian company may receive FOI under the two routes as given under:
+« Automatic Route: FOI up to 100% is allowed under the automatic route
n all activities)/ sectors except a few. FDI under this route does not require

any prior approval either of the Government or the RBI.

« Government Route: FDI in activities not covered under the automatic
route requires prior approval of the Government which is considered by the
Foreign Concerned Apartments in consultation with DIPP (Department of
Industrial Policy & Promotion).

With reference to the international trade of India at
present, which of the following statements is/are
correct?
1. India’s merchandise exports are less than its
Merchandise imports.
2. India's imports of iron and steel, chemical, fertilizers
and machinery have decreased in recent years. Volume
3. India's exports of services are more than its Imports 1&2,
32 of services. D India & 16,17, 32
4. |India suffers from an overall trade/current account Eco
deficit. Survey
Select the correct answer using the codes given:
a)1and 2 only
b) 2 and 4 only
c) 3 only
d) 13 and 4 only
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The present scenario in India

« Merchandise exports remained consistently lower: Post the 1991 reforms,
India’s share in merchandise (goods) exports has grown at 13.2% per annum and
our share in world exports has increased from 0.6% in 1991 to 1.7% in 2018 (China

-12.8%). Further, merchandise exports as a percentage of GDP remained
consistently lower for India.

* Merchandise imports have grown faster: Imports of merchandise have grown
faster (at the rate of 14.9% per annum during 1993-2018) than exports, resulting
in increasing trade deficits.

« Services: On the other hand, exports of services generally grew faster than
imports, providing some cushion to current account deficit.

GLOBAL AND DOMESTIC ECONOMIC ENVIRONMENT

* The estimate for growth in world merchandise trade volume in 2017 was raised to 3.6
per cent. Global GDP growth is expected at 2.8 per cent at market exchange rates.

* For India trade (Exports + Imports) growth in last four years has remained on the
negative side with a slight improvement in 2014, showing a growth of 0.7 per cent.

+ India registered robust growth of 7.1 per cent in 2016-17 thus becoming the fastest
growing major economy in the world.

+ Exports recorded a positive growth of 10.84 per cent during April-September 2017-18 over
the corresponding period of the previous year.

+ Imports registering a positive growth of 25.79 per cent in US$ terms. Oil import were valued
at US$ 46.51 Billion which was 17.65 per cent higher.
The Trade deficit was estimated at US$ 74.27 Billion.
Exports of the top five commeodities registered a share of 32.52 per cent mainly due to
significant contribution in the exports of petroleum products; pearl, precious, semi-precious
stones; drug formulation biclogical; gold and other precious metal jewellery and iron and
steel.

+ Import of the top five commodities registered a share of 42.48 per cent mainly due to
significant import of petroleum crude; pearls, precious and semi-precious stones; gold;
telecom instrument and coal, coke and briguettes, etc.

The term “West Texas intermediate” sometimes found
in news reference to a grade of

a) Crude oil

b) Bullion

c) Rare Earth elements

d) Uranium

33 A 2 168
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CRUDE OIL

« The petroleum industry generally classifies Cru
location it 1= produced in (e.g. West Texas Inter
its API gravity (an oil industry measure of density),

« Crude ol may be considered light if it has low d
high density; and it may be refarred to as sweet (if it
sulpbiur ar sour if it contains substantial amounts of sulp

« The geographic lacation is important because it affects tran
to the refinery. Light crude oil is more desirable than heawy il sin
a higher vield of petrol, while sweet oil commands a higher price than sour ol
because it has fewer environmental problems and requires less refining to
meet sulphur standards imposed an fugls in Consuming countries,

« Barrels from an area in which the crude oils molecular charactaristics hawve
been determinad and the oil has been classified are used as pricing referencas
throughout the world, Some of the commaon reference Ccrudes are:

« West Texas Intermediate (WTI), a very high-quality, swest, Lhght il
delivarad at Cushing, Oklahoma for Morth Amernican oil.

« Brent Blend, comprising 15 ails fram fields in the Brent and Minian
systems in the East Shetland Basin of the Maorth Sea. The oil is landed at
Sullom Voe terminal in Shetland., il production from Europe, Africa and
Middle Eastern oil Mowing West tends to be priced off this oil, which forms
a benchmark.

« Dubai-Oman, used as benchmark for Middle East sour crude oil flowing to
the Asia-Pacific region.

« After the collapse of the OPEC-administered pricing system in 1985,
and a short lived experniment with netback pricing, oil-exporting countrigs
adopted a market-inked pricing mechamism. The current reference or
pricing markers are Brent, WTI, and Dubai/Oman.

« Brent crude = one of the maost important benchmark crude oils, Two thirds
of the worlds” internationally traded crude oil supphes are priced relative Lo it
India s very much rehant an ail from the Middle East (Hah Sulphur).

In the context of the Indian economy non-financial that

includes which of the following?

1. By housing loans owed household.

2. Amount outstanding on credit cards.

3. Treasury bills.

34 D 2 28,105,106

Select the correct answer using the code given below:

a) 1only

b) 1 and 2 only

c) 3 only

d)1,2and3

= General Credit Cards (GCC): Banks were asked by the RBI to launch and
offer GCC facilities with an amount of up to Rs. 25,000 at their branches
located in semi-urban and rural areas.
are Shart-term (usually less than 1 vear, typically 3 months)
ory note issued by the government as a primary instrument
ey supply and raising funds wvia open market oparations.
1 thrae tenors, namely, 91 day, 182 day and 364 day.
EBI, T-bills commonly pay no explicit interest but are
. their vield being the difference between the purchase
-value (also called redemption value). They are callaed
ities. This yield s closely watched by Ainancial markets

Crackias.com Page 31 0f 71



Our Performance 2020

NO.

Located in CrackIAS
Correct notes

Question in UPSC GS Prelims Paper -1 2020

Answer Book Page
No.

and affects the yield on municipal and carpar
rates. although their vield is lower than on
maturities, T-bills are very popular with ins
being backed by the government’s full faith an
a risk free investment

35

In India, why are some nuclear reactors keep under

IAEA safeguard while others are not?

a) Some use uranium and other use thorium.

b) Some use imported uranium and other use
domestic supplies.

c) Some are operated by foreign Enterprises and other
are operated by domestic enterprises.

d) Some are state-owned others are privately-owned.

« Among other stipulations, the guidelines require that importing
countries agree to so-called comprehensive safeguards—numerous
procedures that require opening up all their nuclear fadilities to

(IAEA).

36

With reference to Trade-Related Investment Measures

(TRIMS), which of the following statements is/are

correct?

1. Quantitative restrictions are imports by foreign
investors are prohibited.

2. They apply to investment measures related to trade
in both goods and services.

3. They are not concerned with the regulation of C 2 205
foreign investment.

Select the correct answer using the code given below:
a)1and2only

b) 2 only

c)1and 3 only

d)1,2and3
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37

The Trade-Related Investment Measures (TRIMs) Agreement appliss
only to measures that affect trade in goods, IE recogmiZzes that certain
measures can restrict and distort trade, and states that no meamber shall apply
any measure that discriminates agamst foreigners or foreign products (i.e.
viclates "national treatment” principles in GATT ). It also autlaws investmeant
measures that lead to restrictions in quantities (violating another principle
in GATT]. an illustrative hst of TRIMs agreed to be inCconsistent with these
GATT articles is appended to the agreemeant. The List includes measures which
require particular levels of local procuremeant by an enterprise (Mlocal content
irements”™). [talsodiscourages measuras which limit a company s imparts
=0s for the company to export (Mtrade balancing requirements™).
Greament, countries must inform fellow-members through the
=strment measures that do not conform with the agresment.
5 had to eliminate these in two vears (by the end of 1996);
s had five years {to the end of 1999, and least-developead
July 2001, the Goods Coundcil agresed to extend this
4 number of requesting developing countrigs.,

ablishes a Committee on TRIMs toc monitor  the
ese cammitmeants. The agreement also says that WTO
ider, by 1 January 2000, whether there should also be
tment palicy and caompetition pohcy. This discussion is
Development Agenda.

=

If the RBI decides to adopt an expansionist monetary
policy, which of the following would it not do?

1. Cut and optimize the statutory liquidity ratio.

2. Increase the Marginal standing Facility rate.

3. Cut the bank rate and repo rate. 73, 75,

Select the correct answer using the codes given below: 122,123

a)1and 2 only
b) 2 only

c) 1and 3 only
d)1,2and3
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Statutory
Liquidity
Ratio
(SLR)

It is share of Net demand and time liabilities that a bank
is required to maintain in safe and liguid assets, such as,
unencumbered government securities, cash and gold.

The Changes in SLR often influence the availability of resources
in the banking system for lending to the private sector.

SLR rate is determined and maintained by the RBI in order to
control the expansion of bank credit.

Generally, this mandatory ration is compiled by investing in
Govit bonds.

In India, Banks' average od SLR is 27.5%. So banks have
investad more than required percentage and use these excess
bonds as collateral security to avail short term Funds from the
RBI.

Repo or
Repurchase
Options

It is the rate at which banks borrow rupees from RBI. This
facility is for short term measure and to fill gaps between
demand and supply of money in a bank.

When a bank is short of funds, they borrow from bank at
repo rate and if bank has a surplus fund then the deposit the
funds with RBI and sarn at Reverse repo rate.

It is exercised by RBI to buy government securities from
Banks, to inject liguidity.

A reduction In the repo rate will help banks to get money at
a cheaper rate. When the repo rate increases borrowing from
RBI becomeas more expensive.

Reverse Repo

It is the rate, which is paid by RBI to banks on Deposit of
funds with RBI.

It is the (fixed) interest rate at which the RBI absorbs
ligquidity, on an owvernight basis, from banks against the
collateral of eligible government securities under the LAF

REI sells government securities to banks in order to absorb
excess liguidity from market.

LIQUIDITY MANAGEMENT TOOLS OF RBI
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Impact of Monetary Policy on Economy/ General Objectives of Monetary Policy

« Promotion of saving and investment: & higher rate of intarest translates
o a greater chance of investment and savings, thereby, maintaiming a healthy
ol [Tow within the economy.
Q l:he imports and exports: By helping industries secure a loan
rate of interest, monetary policy helps expoart-orignted units
iports and increase exports, This, in turn, helps improve the
alance of payments.
55 cycles: Monetary policy i' the greatest toal using which
1 af business cycles can be controlled by managing the credit
of maney. The inflation n the market can be controlled
v of money, On the other hand, when the money supply
n the econarmy will also witness a rise
gate demand: Since monetary policy can control the
my, I can be used by moanetary authorities t maintain
=mand and supply of goods and services. When credit is

expanded and the rate of interest is reduced, it alloy
for the purchase of goods and services, This leads
+ Generation of employment: &= monetary polic
small and medium enterprises (SMEs)] can 2asily
gxpansion. This can lead o greater employment ap
. Helping with the development of infrastructur
concessional funding for the development of infrastru
+ Allocating more credit for the priority segme
allocated at lower rates of interest for the development o
as small-scale industries, agriculture, underdeveloped sect
+ Managing and developing the banking sector: The entire
managed by the RBI. While REI aims to make banking facilities aw
wide across the nation, it also instructs other banks using the monetary policy o

astablish rural branc ||-:*_~, wharaver necessary for agricultural development,

With reference to the Indian economy after the 1991
economic liberalization consider the following
statements:

1. Worker productivity (X per worker at 2004-05
prices) increased in the urban area while it
decreased in rural areas.

2. The Percentage share of rural areas in the
workforce steadily increased.

3. Inrural areas the growth in non-farm economy
increased.

4. The growth rate in Rural Employment decreased.

38

Which of the following statements given above is / are
correct?

a)1and2only

b) 3 and 4 only

c) 3 only

d) 1,2 and 4 only
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Impact of Liberalization on Poverty in India

» There is no evidence about the clear cut positive or negative impact on
liberalisation on poverty. The response is a mixed one. While liberalisation has
opened up a plethora of opportunities; it is also well known that liberalisation
is heartless, favouring only the fittest. In this context, following can be noted
as highlighted by P. Sainath -

» The level of inequality in rural India has risen to extraordinary levels
where 75% of poor live. While public investment in agriculture shrank to
2% of the GDP, and the nation suffered the worst agrarian crisis in decades;
at the same time, India became the nation with one of the highest number
of dollar billionaires.

» Hunger in India has reached its highest level in decades. Farm incomes
hawve collapsed.

= Rural economies across India have collapsed, or on the verge of collapse.
Mon-farm employmeant has stagnated. Millions mowve towards towns and
cities where, too, there are few jobs to be found.

= \ery high portion of rural households entered into the debt cycle, resulting
in a very high number of farm suicides.

= [Liberalisation encouraged farmers to switch to cash crops, which resulted
in an extraordinary increase in farm input costs, while market forces
determined the price of the cash crop. Disproportionately large number
of affected farm suicides has occurred with cash crops, because with food
crops such as rice, even if the price falls, there is food left to survive on.

Consider the following statements:

1. Interms of short-term credit delivery to the
agriculture sector, District Central Cooperative Bank
(DCCBs) deliver more credit in comparison to
scheduled commercial banks and regional rural
banks.

2. One of the most important functions of DCCBs is to

39 provide funds to the primary Agricultural Credit
societies.

Which of the following statements given above is / are

correct?

a) 1only

b) 2 only

c)Both 1and 2

d) Neither 1 nor 2
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« State Cooperative Banks: If = 5 federati
bank and acls as a watchdog., They obtain the
deposits, loans and overdralts from the R85 an
co-operabive banks and porimary societies and

« District Central Cooperative Bank: Theseg -
primary credit socfeties /n 5 district, The fund
share capital, deposits, loans and overdralts from statl
and joint stocks, These banks provide Anance to memb
the limits of the borrowing capacity of socielies,

« Primary Agriculture Credit Services: The primany cooperalive credil
cociely (= an association of borrowers and non-borrowers residing
in a locality. The funds of the society are devived from the share capital
and deposits of mambers and foans from central cooperative banks. The
borrowing powers of the mambers as well 35 of the society are fixed., The
foans are given to members for the purchase of cattle, fodder, Fertilizers,
pesticides, afc.

In India, under cyber insurance for individuals, which of
the following benefits are generally covered, in addition
to payment for the fund of points and other benefits?
1. Cost of restoration of the computer system in case of
Malware disrupting access to one’s computer

2. Cost of a new computer if some miscreant wilfully
damages it, if proved so

3. Cost of hiring a specialized consultant to minimize

40 | theloss in case of Cyber extortion B
4. Cost of Defence in the Court of Law if any third party
files a suit.

Select the correct answer using the codes given below:

a)1,2and4only

b) 1,3 and 4 only

c) 2 and 3 only

d)1,2,3and4

What are the advantages of fertigation in agriculture?

1. A controlling the alkalinity of irrigation water is
possible.

2. Efficient application of rock phosphate and all other
phosphatic fertilizer is possible.

3. Increased availability of nutrients to plants is

. L . . India &
a1 poss‘lble. 4 Redt.!ctlon in the leaching of chemical C Eco 21
nutrients is possible.
Survey

Select the correct answer using the code given below
a)1,2and 3 only
b) 1, 2 and 4 only
c) 1,3 and 4 only
d) 2,3 and 4 only
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Soll and Water Productivity

Landform maps, soil survey and soill map preparation were completed for 55 blocks
comprising the southern region (17), western regions (5), central region (5), eastern region
(17), northern region (6 blocks), and north-eastern region (5).

Ecological niche modeling (EMM) of Ceropegia bulbosa, an endemic threatened plant
species of Thar Desert, was done in the field, the species rehabilitation was successful under
natural conditions.

Mridaparikshak, mini lab for soil testing and fertilizer recommendation, was further
upgraded for more soil parameters.

Fertilizer —use efficiency increased by 42-67% for different crops under different drip-
fertigation treatments than soil application.

Consider the following minerals:

1. Bentonite

2. Chromite

3. Kyanite

4. Sillimanite In India,

42 . . - . . D
Which of the above is/are officially designated as major
minerals?
a)1and 2 only
b) 4 only
c) 1and 3 only
d) 2,3 and 4 only
With reference to ocean mean temperature (OMT),
which of the following statement is/ are correct?

1. OMT is measured up to a depth of 26°c isotherm
which is 129 meters in the south western Indian
Ocean during January march.

2. OMT collected during January march can be used in
assuming whether the amount of rainfall in

43 monsoon will be less or more than 1 written long B

term mean.

Select the correct answer using the codes given below

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

With reference to chemical fertilizers in India consider

the following statements.

1. At present the retail price of chemical fertilizers is
market-Driven and not administered by the
government. 2. Ammonia, which is an input of urea,

44 is product from natural gas. B

2. Sulphur, which is a raw material for phosphoric acid
fertilizer, is a by-product of oil refineries.

Which of the statement given above is are correct?
a) 1only
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b) 2 and 3only

c) 2 only

d) 1,2and 3

With reference to India’s Desert National Park, which of
the following statements is/are correct?

1. It is spread over two districts.

2. There is no human habitation inside the Park.

3. It is one of the natural habitats of Great Indian

45 | Bustard. C 5 305,306

Select the correct answer using the code given below:
a)1and 2 only

b) 2 and 3 only

c) 1and 3 only

d)1,2and3

+« Desert National Pa
Jaisalmer. This is one of the .

covering an area of 3100 sg. km. ecosystem.
- The is 8 magnificen
numbers. It migrates locally in different seas
- Migratory and resident birds include eagles,
kestrel, and vultures.

, tawny eagles, spotted
kestrels are the commonest of these., Sandgrol
ponds or lakes.

- 5Sea shells and
geclogical history of the desert.

Siachen Glacier is situated to the
a) East of Aksai Chin

b) East of Leh D 5 8
c) North of Gilgit

d) North of Nubra valley
« Baltoro ISPl are some of the glaciers in this area.

glaciers m are — Siachen (in Nubra walley), Hispar, Biafo, and

46

oram lie two parallel ranges — and
With reference to the history of India, consider the
following pairs: Famous Place Present State

1. Bhilsa Madhya Pradesh

2. Dwarasamudra Maharashtra

3. Girinagar Gujarat

47 4. Sthanesvara Uttar Pradesh A 6 283

Which of the pair given above are correctly matched?
a)1and3only
b) 1 and 4 only
c) 2and 3 only
d) 2 and 4 only
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= The Hoysala era (1026 CE - 1343 CE) was marked by illustrious achievements
in art, architecture, and culture. The nucleus of this activity lay in the present
day , India. The intention of surpassing the
Western Chalukyan Empire (973 CE - 1189 CE) in its own sphere provided
further impetus for excelling in the field of architecture.
is an
. Regrettably, the shikhara has been lost to the ravages of time.
The garbha griha houses an enshrined (Chenna means
beautiful whereas Kesava is another name of Krishna). The whole temple, built
on a grand scale, follows the general pattern of Hoysala architecture. It has
an east-west orientation set on a jagati. Under the eave cornice of mandapa
(outdoor ritual hall) there are 38 most wonderfully sculpted figures called
salabhanjika or madanika (bracket figures). Their placements and inscriptions
reveal these to be later additions (primarily during the reign of Veer Ballala II).
Originally Halebidu was called which refers to a
large water reservoir that was excavated almost three-quarters of a century
before the city being selected as the capital of the Hoysala Empire. Its present
name means ‘old city’, doubtlessly indicating to the fact of its abandonment
after being ransacked twice by the invading armies of the sultanates.

Consider the following statements:
1. 36% of India's districts are classified as
“overexploited” or “critical” by the central ground

water authority (CGWA)
2. CGWA was formed under the Environment
(Protection) act. India Year
3. India has the largest area under ground-water Book &
48 L B 172
irrigation in the world. Eco
Survey
Which of the statements given above is / are correct?
a) 1only
b) 2 and 3 only
c) 2 only

d) 1 and 3 only
Central Ground Water Board (CGWB)

= Central Ground Water Board is the MNational apex organization in the field of ground
water under the Ministry of Water Resources.
Board is headed by the Chairman who also heads the Central Ground Water Authority

= Central Ground Water Board was constituted as Central Ground Water Authority
(CGWA) under Environment (Protection) Act, 1986 in 1997 for regulation and control of
ground water management and development in the country. {(Chairman and 14 member).

Consider the following statements:

1. Jet streams occur in the Northern hemisphere only.
2. Only some cyclones develop an eye.

3. The temperature inside the eye of a cyclone is

49 nearly 10 degree Celsius lesser than that of the C 1 265
surroundings.

Which of the statements given above is/are correct?
a) 1only
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b) 2 and 3 only
c) 2 only
d) 1 and 3 only

are circular and close — means there is
of the whole cyclone varies from 150 £
« The center of the storm is called having a re 30
. In the eye, atmospheric pressure is excessiv Subsidence of air
takes place here causing calm air and clear sky.
: violent winds of speed 120 km/hr circu Wind
here, forming a sort of LIt
torrential rainfall, thunderstorm and lightening.
« The i.e. area outside inner ring is characterized DYget=li==T-R =1L =
and wind speeds.
« The winds are , reverse in SH. Winds mowe 1O%
core, and veer to right.

Tropical Cyclones show a pattern o
consequent movement. Each part of the cyclones is
kind of weather phenomenon.

« When the .
250 mm rainfall in one storm aloeng with lightening.
with cumulonimbus (Cu-Ni) clouds.

« When , the weather is calm, sky is clear an
around %2 hr for the eye to pass.

« When , same weather conditions as that of arrival
winds in opposite direction.
Heavy rain continues even after winds become weak.
The as these moves landward because the
source of energy (i.e. ocean) is cut off. The latent heat of condensation of
cumulonimbus clouds provide them regquired energy. This is the reason that

as they fail to

mowve too inside the land, and move back towards oceans in a curved trajectory.

Among the following tiger reserves, which one has the
largest area under "critical tiger habitat"?

a) Corbett

b) Ranthambore 8,309
¢) Nagarjunsagar-Srisailam
d) Sunderbans

50

300,305,30

arjunasagar spreads over five districts - MNalgonda, Mahaboobnagar,
| Prakasam and Guntur; established in the year

tly it became one of the largest links in the Tiger Reserves
nder the

-

- It i5 in Sawai Madhopur District at the
. This is one of the finest places to view animals.

- The is not the only attraction at Ranthambore. A variety of birds
including owlets, the ubiguitous langur (monkey), leopard, caracal, hyena,
jackal, jungle cat, marsh crocodiles, wild boar, bears and various species of
deer are the other attractions.

- A significant geological feature within the park is the

where the Vindhyas plateau meets the Aravali range.
in the South and the bound the
ark. The park is dotted with steep rocky hills and the dominating
of Ranthambore Fort (built in the 10th century), adds to its
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- Corbett National Park lies in two districts - Mainital and Pauri.
- Itcovers an area of 521 sq. km and together with the neighbouring
and Reserve Forest areas, forms the Corbett Tiger
Reserve over 1288 sq. km.

- Corbett had the proud distinction of being chosen as the venue for the

in India.

-  Due to the location of the Reserve in the foothills of the Central Himalayas

is found in the Reserve.

- Corbett is the site for aimed
at saving prominent endangered species from extinction and providing a
safe habitat for them. These are:

found are Chital, Elephant, Wild pig, Barking Deer, Sambar,
Tiger, Common Langur, Rhesus Macaque, Jackal, and Leopard Panther etc.

- The Sunderbans covers 10,000 km?* of land and water (in India and
Bangladesh) in the Ganges delta. It contains the

- A number of rare or endangered species live in the park, including tigers,
aquatic mammals, birds, and reptiles.

- A the Sunderbans is a vast area covering
4264 square km in India alone. The Indian Sunderbans forms the

in India.

- The Sunderbans forest is home to more than Also there are

- The aqua fauna of Sunderbans include a variety of fishes; red fiddler crabs
and hermit crabs. There are which can be often seen along the
mud banks. Sunderbans National Park is also noted for its

king cobra, rock python, and water monitor.

- The endangered is found on the Mechua
Beach, while the is found only in in
Sunderbans.

Consider the following statement:

1. Aadhaar metadata cannot be stored for more than
three months

2. State cannot enter into any contract with private
corporations for sharing by Aadhaar data

3. Aadhaar is mandatory for obtaining insurance
products

51 | 4. Aadhaaris mandatory for getting benefits funded B 2,7 44,217

out of the consolidated fund of India.

Which of the statements given above is/are correct:
a)1and4only
b) 2 and 4 only
c)3only
d) 1,2 and 3 only
» Key components of DBT

o Abtpresent, Aadhaaris not mandatory forawv
schemes of the Goverrnment. Howewver, Aad
database and bank accouwnts (s desirable to 3
frue sense, Aadhaar seeding s done by ur
the beneficiary database and inking the Aadh
account of the beneficiary in the Core Banking
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= The 'One nation, one rAtion card’ scheme will be avail
from July 1, 2020.

= 0On a pilot basis government launched

for Beneficiaries in Telangana and Andhra Pradesh. They can
their quota of ration from Public Distribution System (PDS), or ration shops, in
either state. Similar would be the case in Maharashtra and Gujarat.

» The scheme will . The scheme
would ensure that all beneficiaries can access PDS across the nation from any
shop of their choice.

= This means will be able to buy subsidised rice and
wheat from any ration shop in the country if their ration cards are linked to
Aadhaar.

# The biggest beneficiary of this would be who move to
other States to seek better job opportunities.

» The scheme will help in and put an end to the dependence
on one Public Distribution System (PDS) shop.

» States like Haryana, Jharkhand, Karnataka, Kerala, Rajasthan, and
Tripura already offer this portability. Delhi had begun implementing portability,
but was stopped for technical reasons.

# The States such as Himachal Pradesh, Madhya Pradesh, Jammu and Kashmir,
Punjab, and Tamil Madu , a5 they had
PoS machines in all the ration shops.

= All the States have been given one more year to (PoS)
machines in the ration shops and implement the scheme.

= While Aadhaar linkage is not necessary to access the

benefits in a beneficiary’s local ration shop closest to her home address, it
will be necessary to access the portability scheme.
Rajya Sabha has equal power with Lok Sabha in
a) the matter of creating new All India Services
52 | b) amending the Constitution B 3 103
¢) The removal of the government
d) Making cut motions
: both Rajya Sabha and Lok Sabha hawve
been _ )
With reference to the funds under members for
parliament local area development scheme (MPLADS)
which of the following statements are correct?
1. MPLADS funds must be used to create travel agents
like physical infection for health, education, etc.
2. A specific portion of each MP's fund must benefit 8, India &
53 SC/ST populations D Eco 38,31
3. MLPADS funds are sanctioned on early basics and Survey

the unused funds cannot be carried forward to the
next year 4. The district authority must inspect at
least 10% of all works under implementation every
year.
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Select the correct answer using the codes given:
a)land?2
b) 3 and 4 only
c)l2and3

d) 1,2 and 4 only

o 15% of MPLADS funds used for areas inhabited by SC population and 7.5% for ST,
-

s For calamity affected areas, the MPs from non-calamity areas of same

3081
e

MPLAD scheme, a Gol Fully funded scheme (as Grants-in-aid), was launched in 1993,
to enable Members of Darliamé_nt to recommend works for creation of fixed community
assets, basad on locally felt d"evelopmental needs,

e Initially under Ministry of Rural Development, it was transferred to Ministry of Statistics

& Procgramme Implementation in 1594,

e MPs have a2 recommendatory role. MPs recommend their choice of works to the

concerned District Authorities who gat them implemented. District Authontns are
entitled to 2% of fund for their administrative expenses.

e Funds released under the s\.nemu sre non- Iapsable The annual entitlement per M2 has

increased from Rs, 5 lakh in 1993, to Re, 2 crores in 1998, and now Rs. S crores from
2011.

Lok Sabha Members can recommend v/ork in their respective constituencies, Slected
Member from Rajya Sabha can recommeand viork anywhere in the state from which thty
are elected. Nominated Members "u" Lok Sabha and Rajya Sabha can recommend wor
anywhere in the country, 3

recommend funds upto RS, 10 lakhs per annum. For a savers callmitu n
country, a MP can recommend upte Rs. 50 lakhs .J Al Y
i vl "'

MEMBER OF PARLIAMENT LOCAL AREA DEVELOPMENT SCHEME- MPLADS

MPLAD scheme, a Gol Fully funded scheme (as Grants-in-aid), was launched in 1993, to
enable Members of Parliament to recommend works for creation of fixed community
assets, based on locally felt developmental needs.

Initially under Ministry of Rural Development, it was transferred to Ministry of Statistics &
Programme Implementation in 1994.

MPs have a recommendatory role. MPs recommend their choice of works to the concerned
District Authorities who get them implemented. District Authorities are entitled to 2% of
fund for their administrative expenses.

Funds released under the scheme are non-lapsable. The annual entitlement per MP has
increased from Rs. 5 lakh in 1993, to Rs. 2 crores in 1998, and now Rs. 5 crores from 2011.
15% of MPLADS funds used for areas inhabited by SC population and 7.5% for ST.

Lok Sabha Members can recommend work in their respective constituencies. Elected
Member from Rajya Sabha can recommend work anywhere in the state from which they
are elected. Nominated Members of Lok Sabha and Rajya Sabha can recommend work
anywhere in the country.

For calamity affected areas, the MPs from non-calamity areas of same state can
recommend funds upto RS. 10 lakhs per annum. For a severe calamity in any part of
country, @ MP can recommend upto Rs. 50 lakhs.

Which one of the following categories of fundamental
rights incorporated protection against untouchability as
a form of discrimination?

54 | a) Right against exploitation D 3 34, 39
b) Right to freedom
¢) Right to constitutional
d) Right to equality
= Originally, constitution of India classifies fundamental rights under 7 groups

{a) Right to Equality : Articles 14-18
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Parliament is authorized to make a law
prescribing the punishment for this offence [Art. 35], and in exercise of this
power, Parliament has enacted the The
sweep of the Act has been enlarged in 1976, by including within the offence of
practicing untouchability, the following -
a member of Scheduled Caste on the ground of untouchability;
untouchability, directly or indirectly;
untouchability on historical, philosophical or religious grounds or
on the ground of tradition of the caste system.

« The have been enhanced by providing that (a) in the case
of subsequent convictions; the punishment may range from 1 to 2 years’
imprisonment. (b} A person convicted of the offence of untouchability shall be
disqualified for election to the Union or a state Legislature.

except Military and Academic. Bharat Ratna, Padma Vibhushan,
Padma Shri and Mational Awards etc. are exempted
In India, separation of judiciary from the executive is
enjoined by:
a) The Preamble of the Constitution
55 . . - . B 3 50
b) a Directive Principle of State Policy
c) the Seventh Schedule
d) the conventional practice
50
51 Promotion of and security
Along with the budget, the finance minister also plays
other documents before the parliament which includes
the macro economic Framework statement the
aforesaid is present because this is mandated by:
1. Long standing parliamentary convention
56 & &P y D 2 46

2. Article 112 and article 110(1) of the Constitution of
India

3. Article 113 of the Constitution of India

4. d) Provision of the Fiscal Responsibility and Budget
Management Act, 2003

Fiscal Responsibility Act 2003

Based on New Zealand Model.

-

« It has Constitutional mandate under Article 292.
e It came into force in July 2004

« Targets

e Minimum annual reduction in revenue deficit by 0.5% of GDP beginning
with 2004-05 with an aim to eliminate completely by March 20089.

e To reduce fiscal deficit by an amount by at least 0.3% of GDP, so that
deficit is less than 3% of GDP by end of March 2008.

e To limit government guarantees to aimost 0.5% of GDP in any financial
year.

« To limit additional liabilities (including external debt) at current exchange
rate to 6% of GDP in 2007-08.

« Not to borrow directly from RBI with effect from 1 April 2006.

e To present three statements before the parfiament along with the annual
budget: Macroeconomic framework statement, fiscal policy strategy
statement and Mid-term fiscal policy statement.

57 A constitutional government by definition is a: D 3 48

a) Government by legislature
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b) Popular government
¢) Multi party government
d) Limited government

3| Government is a regime type that is characterized by the fact
ent” operates within a set of legal and institutional constraints

citizen of a polit

P U NPy R O - m e e o o md & R

Other than the fundamental rights which of the
following part of the Constitution of India reflect
reflects the principles and provision of the universal
declaration of Human rights 1948?

1. Preamble.

2. Directive principles of state policy.

58 | 3. Fundamental duties. D 3 216,217

Select the correct answer using the codes given below
a)1and2only

b) 2 only

c¢)1and 3 only

d) 1,2 and 3 only

UNIVERSAL DECLARA

ation of Human Rights, which was adopted by the UN
, was the result of the experience of
r. With the end of that war, and the creation of the United
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Mations, the international community vowed neve
those of that conflict happen again.
« World leaders decided to complement the UN
guarantee the rights of every individual everywhdg
Article 1: All human beings are qual in dignity
Article 2: Everyone is entitled to all the rights a
Declaration, without distinction of any kind. Fu no distinction
shall be made based on the political, jurisdictiona
the country or territory to which a person belongs.
Article 3: Everyone has the right to and 2
Article 4: No one shall be held in or servitude.
Article 5: No one shall be subjected to or to cruel.
Article 6: Right to .
Article 7: All are before the law.
Article 8: Right to an effective remedy.
Article 9: No one shall be subjected to , detention or exile.
Article 10; Full equality to a fair and public hearing.
Article 11: Right to be presumed innocent until proved guilty. Mor shall a
heavier penalty be imposed than the one that was applicable at the time the
penal offence was committed.
- Article 12: Mo one shall be subjected to arbitrary interference with his
privacy, family, home or correspondence.
= Article 13: Freedom of

Article 14: Right to seek and to enjoy in other countrues from
persecution.

= Article 15: Right to a . No one shall be arbitrarily deprived of
his nationality.

= Article 16; Right to and to found a family.
- Article 17: Right to own
Article 18: Right to freedom of thuught conscience and

Article 19: Right to freedom of and expression.
Article 20: Right to freedom of peaceful .
Article 21: Right to take part in the ; right of equal access to

public service; and the will of the people shall be expressed in periodic and
genuine elections.
Article 22 Right to
Article 23: Everyone has the right m , right to equal pay right to just
and favorable remuneration, and everyone has the right to form and to join
trade unions.
Article 24: Right to rest and

Article 25: Everyvone has the right m a  motherhood
and childhood are entitled to special care and assistance.
Article 26: Everyone has the right to ; development of the

human personality and to the strengthening of respect for human rights
and fundamental freedoms.

Article 27: Everyone has the right freely to participate in the

and right to the protection of the moral and material interests.

icle 28: Everyone is entitled to a social and international order.

29: Bveryone has duties to the community. In the exercise of his
freedoms, everyons shall be subject only to such limitations as
ed by law

In India legal service authority provide free legal service

to which of the following type of citizens

1. Person with an annual income of less than

59 %1,00,000 2. Trans transgender with an annual A
income of less than 2,00,000

2. Number of other backward classes OBC with an
annual income of less than X3,00,000
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3. All senior citizens.
Select the correct answer using the code given below
a)1land2only
b) 3 and 4 only
c) 2and 3 only
d) 1and 4 only
Consider the following pairs: International agreement/
setup Subject
1. Alma-Ata Declaration health care of the people CA
2. Hague Convention biological and chemical weapons
. . Suppleme
3. Talanoa Dialogue global climate change nt,
60 4. Under2 Coalition child rights C India Year 139, 539,
Book & %
Which of the statement given below is a correct? Eco
a) Lonly Survey
b) 2 and 3 only
c) 2 only
d) 1 and 3 only
():3) With reference to 'The Juvenile
Justice (Care and Protection of Children)
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Act, 2015', consider the fbﬁo;'ihg
statements :

1. It was passed in consonance with
Hague Convention on Protection of
Children.

P As per the act, Child means a person
who has not completed fourteen years of
age.

3. As per the act, there shall be no joint
proceedings of a child alleged to be in

conflict with law, with a person who is not a
child.

Which of the statements given above
is/are correct?

A. 1 and 2 only
B. 1 and 3 only
€. 2 and 3 only
D. 3 only

Answer : B
Level : Hard
Subject : Current Affairs
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Explanation :

Statement | and 3 are correct; statement 2 is
incorrect: The Juvenile Justice (Care and
Protection of Children) Act, 2015: An Act
to consolidate and amend the law relating to
children alleged and found to be in conflict
with law and children in need of care and
protection by catering to their basic needs
through proper care, protection,
development, treatment, social re-
integration, by adopting a child-friendly
approach in the adjudication and disposal of
matters in the best interest of children and
for their rehabilitation through processes
provided, and institutions and bodies
established, hereinunder and for matters
connected therewith or incidental thereto.
WHEREAS, the provisions of the
Constitution confer powers and impose
duties, under clause (3) of article 15, clauses
(e) and (f) of article 39, article 45 and
article 47, on the State to ensure that all the
needs of children are met and that their
basic human rights are fully protected;
AND WHEREAS, the Government of India
has acceded on the 11th December, 1992 to
():1) The term 'Talanoa dialogue' is
sometimes seen in the news in the context
of

A. Ozone Depleting Substances
B. Genetically Modified Living
Organisms

C. Climate Change

D. Conservation of Biodiversity
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Answer : C

Level : Easy

Subject : Current Affairs
Explanation :

Statement c is correct: It is also known as

Facilitative Dialogue. The COP by its

decision 1/CP.21, paragraph 20, decided to

"convene a facilitative dialogue among

Parties in 2018 to take stock of the

collective efforts of Parties in relation to

progress towards the long-term goal

referred to in Article 4, paragraph 1. of the

Agreement and to inform the preparation of

nationally determined contributions

pursuant to Article 4, paragraph 8, of the

Agreement”. Welcomes with appreciation

the design of the 2018 facilitative dialogue,

to be known as the Talanoa dialogue,

announced at the twenty-third session of

the Conference of the Parties by the

Presidents of the twenty-second and

twenty-third sessions of the Conference of

the Parties, as contained in the informal

note by the Presidencies of the twenty-

second and twenty-third sessions of the

Conference of the Parties.

= Department of Legal Affairs is the nodal department for reciprocal arrangement with foreign

countries for enforcement of arbitral awards pursuant to the New York Convention under
section 44(b) of the Arbitration and Conciliation Act, 1996. The department of Legal

Affairs is the Central Authority under the Hague Convention of 1965 for service aboard of
judicial and extra-judicial documents in civil and commmercial matters.

With reference to the history of India, consider the
following pairs:

1. Aurang - in charge of treasury of the State

2. Banian- Indian agent of the East India Company
3. Mirasidar- designated revenue payer to the state
61 B
Which of the given above is our correctly match:
a)1and 2 only

b) 2 and 3 only

c)3only

d) 1, 2and 3

With reference to the regional history of India consider
62 | the following statements B 6 210,215
1. Sthaviravadins belongs to Mahaya Buddhism
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2. Lokottaraviladin sect was an offshoot of
Mahasanghika sect of Buddhism

3. The deficiency of Buddha by Mahasanghika fostered
the Mahayan Buddhism

Which of the statements given is are correct:
a)1land 2 only

b) 2 and 3 only

c) 3 only

d) 1, 2and 3

[ 11

Sabakami of Buddhism into Mahasanghikas &

383 BC orthodox Sthaviravadins (gave rise to many

Dwuring kKing schools incl. — became popular

AL Vaishali Kalasoka in Sri Lanka). Theravada was believers

in the teaching of elders - an orthodox
school.

For some time after Buddha, the Buddhists remained united but soon some
difference arose among them. These differences continued to become wider
and wider though every effort was made from time to time to patch them up.
During the these differences became so wide that the

into two separate sects—the Hinayana and
Mahayana. The was the old sect the foundation of which
was laid down by Buddha himself and the new sect began to be known as the

There were many differences between these two sects; some of the most
important are the following:
0 The people belonging to the faith began to
and they even made his idols for worship. Howewver, the people
belonging to the Hinayana Buddhism still regarded Buddha as a pious and
great man and never indulged in idol-worship. They believed in a religion
without soul and God.

Buddhism began to lay much while the
people of the Hinayana faith did not accept anything without testing it on
the touchstone of reason.

o The adopted and preached in it, while the
Hinayanists still preached in Pali, the local dialect of the common masses.
o In the faith, much emphasis began to be laid on
while the people belonging to the older faith still
believed in the life of purity and self-denial.

was one of the early Buddhist schools according to Mahayana
doxological sources compiled by Bhaviveka, Vinitadeva and others, and was
a8 subgroup which emerged from the . It was based on the
concept of . Buddha in this school is supernatural Buddha.

63

Which of the following statements correctly explain the

impact of industrial revolution of India during the first

half of the 19th century?

a) Indian hand craft were ruined A 6 52,61, 59

b) Machines were introduced in the Indian textile
industry in large numbers

¢) Railway lines were laid in many parts of the country
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d) d) Heavy duties were imposed on the imports of
British manufacture
But had come o a
virtual owing to the Company’s exploitative policies and, what was
more important, the British did not want to allow India to export goods that
would compete with Britain's home industries, as for example . Therefore,
only and other non-manufactured goods could be
exported. Thus underwent a dramatic change,

but not for the better. For centuries and exporter of cotton textiles and other
handicraft products, India became during the 19" century an importer of cotton
textiles and

flooded the Indian m
Act of 1813 allowing one-way free trade for the British citizens.
Indian products found it more and more difficult to penetrate the Burop

« After 1820, European markets were virtually closed to Indianm exports. The newlyr
introduced helped the European products to reach the remotest cormers
of the country.

« Indian artisans and handicraftsmen were already feeling the crunch due to

by princes and the nobility, who were now under the influence of new
western tastes and values.
and a process of ruralisation
of India. Many artisans, faced with diminishing retums and repressive policies in
Bengal, abandoned their professions, mowved to villages and took to agriculture.

« This resulted in . An overburdened agriculture sector
was a major cause of poverty during British rule and this upset the village economic
set-up.

: East India Company was
g only in making money and thus wanted monopoly. To keep other
they fought fierce wars. For wars, the company neaded money,
ough . Excess of wealth was
e Britain's Capitalist development. Officials were permitted to
back. Indian merchants were sgqueezed out.
I half of 19 Cent from
stom duties were posed for trade within India. There took
in Britain and the Co. had to yield ground to industrial
wanted India as a i.e. a
, machine made manufactured goods and a source of raw
s to feed her people.

to meet Industry’s needs through

savings of officials and payment of interests andg One-sided free
penetrated down to every village. Vast str
placed on Indian products i.e. taxing the movem
letting foreign goods mowve free. British t want to allow India to
that would compete with Britain’s
Therefore, high import duties (70%) were place
centuries the exporter of textiles, India became an
nt and Iinternational
Unlimited accumulation o
place because of industrial revolution. There started a o8
invest it. Under-developed countries with very low wages 3
offered lucrative destinations. Therefore, in post-1850, large Br
investments in railways, and loans to Ind|ar1 Guvernment took place. To-
safeguard this investment, the British Control was further tightened.

64 | Consider the following events in the history of India? | ¢ | 6 265, 266
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1. Write off Partiharas under King Bhoja

2. Establishment of Pallava power under
Mahendravarman-1

3. Establishment of Chola power by Parantaka-1

4. Pala dynasty founded by Gopala

Which is the correct chronological order of the above
event starting from the earliest time?

a) 2-1-4-3

b) 3-1-4-2

c) 2-4-1-3

d) 3-4-1-2

= Chalukyas claiming descent from Brahma or Manu or moon established their
power in begin of sixth century AD in West Deccan.

was most famous King as known from
his eulogy written by court poet in who had

written in Sanskrit. He on banks of Narmada.
+ He defeated Pallava ruler ; but his son Pallava Kking
(630-668 AD) occupied Vatapi in 642 AD and killed
Pulakeshin-II. Narasimhavarman took the title of . He founded
the port city of or Mamallpuram. City was also famous for
, the first independent structural construction not out of any
rock. The Pallavas constructed stone temples in 7 and 8" century. Most famous

at Mahabalipuram built by Marasimhavarman-1I.

o Pallavas Simhavishnu (300-888 AD)
o Cholas Vijayalaya (B50-1276 AD)
o Pratiharas Nagabhatt-1 (773-1019 AD)
o Chalukyas Pulakeshin-I (973-1192 ad)
0o Rashtrakutas Dantidurga (750-1142 AD)
lasted the longest and was the most powerful among
south Indian dynasties. It was founded by with their capital at
or Malked. The greatest rulers of the dynasty were
and . Their successful expeditions were against Magabhatt of

Kanauj and annexation of Malwa by Govinda-III. Amoghvarsha wrote

was founded by in 750 AD. He was succeeded by

his son . He defeated Rashtrakutas ruler and occupied
. Dharamapala revived Nalanda University and founded

. Dharamapala's Son Devapala took control over Assam and Orissa.

were also called . They were defeated by
Dhruba and Gopal-III of Rashtrakutas dynasty. The real founder of the dynasty
was who recovered Kanauj. He was a devotee of Vishnu and assumed
the title He was succeeded by his son Mahendrapala-1. Sanskrit
poet remained in Mahipal's Court.
—
Which of the following phrase defines the nature of the
65 | Hindu generally referred to in the source of the post- C 2 76
Harsha period?
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a) An advisory issued by the king to his subordinates
b) A dairy to be maintained for daily account

c) A bill of exchange

d) An order for the feudal lord to his subordinates

MONEY AND CURRENCY

Money as a means of payment consists of colns, paper money

and withdrawable bank deposits. Today, credit cards and electronic cash
form an important component of the payment system.

Financial Instruments and *Hundis’ in India have a venerable history. Paper
Money, in the modern sense, traces its origins to the late 18th century with the
issues of private banks as well as those of semi-government banks.

With reference to the book "Desher Katha" written by

Sakharam Ganesh Deuskar during the freedom struggle,

consider the following statements:

1. It warned against the colonial State’s hypnotic
conquest of the mind.

2. ltinspired the performance of swadeshi street plays
and folk songs

4. Release of only those prisoners who were not
charged with violence.

Select the correct answer using the codes given below:
a) 1only

b) 1, 2 and 4 only

c) 3 only

d) 2,3 and 4 only

66 | 3. The use of 'desh' by Deuskar was in the specific A
context of the region of Bengal.
Which of the statements given above are correct?
a)1and 2 only
b) 2 and 3 only
c) 1and 3 only
d)1,2and3
The Gandhi-lrwin pact included which of the
following?
1. [Invitation to Congress to participate in the round
table conference.
2. Withdrawal of Ordinances promulgated in
connection with the Civil Disobedience Movement.
3. Acceptance of Gandhiji's suggestion for enquiry into
67 police excesses. B 6 112
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« Government made efforts to negotiate with Co
MR Jayakar were between Congress
on 5 March 1931 known cel=il el
Irwin Pact’ was a political agreement signed by
Irwin, the then Viceroy of India gound Table Conference
in London. Pact placed the congress on an equal foo
the Pact, the :
0 Release political prisoners who remained non-violent s
o Right to make salt for consumption.
o Right to peaceful picketing of liquor and foreign cloth shops.
o Withdrawal of emergency ordinances.
0 Remission of fines and return of lands.
o Return of all lands not yet sold to third parties.
0 Lenient treatment of those government servants who had resigned.
The Vital-Vidhvansak, the first monthly journal to have
the untouchable people as its target audience was
published by:
68 | (a) Gopal Baba Walangkar A
(b) Jyotiba Phule
(c) Mohandas Karamchand Gandh
(d) Bhimrao Ramji Ambedkar
With reference to the history of India, the terms
"kulyavapa" and "dronavapa" denote:
(a) Measurement of land
69 . . A
(b) Coins of different monetary value
(c) Classification of urban land
(d) Religious rituals
Who among the following rulers advise his subjects
through his inscription? "Whosoever praises his
religious sect or blames other sects out of excessive
devotion to his own sect, with a view of glorifying his
70 | own sect, he rather injures his own sect very severely." A 6 233
(a) Ashoka
(b) Samudragupta
(c) Harshavardhana
(d) Krishnadeva Raya
:ﬁjm ARG ISl Tolerance for all religions and sects.
A parliamentary system of government is one in which:
a) All political parties in the parliament are
represented in the government.
b) The government is is responsible to parliament and
b d by it.
71 can be removed by i B 3 56

c) The government is elected by the people and can
be removed by them.

d) d) The government is citizen by the parliament but
cannot be removed by it before completion of fixed
term.
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This is the
government. The ministers are collectively responsible to th
general and to the Lok Sabha in particular.

e S R T e e e R o s e Pt ST e

: By its very nature, the parliamentary system
establishes a responsible government. The ministers are responsible to the
Parliament for all their acts of omission and commission. The Parliament
exercise control over the ministers through various devices like question hour,
discussion, ad]c:urnment mn:rtmn and r'm cunﬁdence mntmn

Book Page

No.

Which part of the Constltutlon of Indla declares the
ideal of welfare state?

a) Directive principle of state policy

b) Fundamental rights

c) Preamble

d) 17th schedule

72

Consider the following statements:

1. The Constitution of India defines it 'basic structure'
in term of federalism, secularism, fundamental
rights and democracy.

2. The Constitution of India provides for 'justice
review' to safeguard the citizen liberty and to to

Which of the statement given above is are correct:
a) 1only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2

* These are of the
» They promote the idea of a° and not

. . o 48 (S1),
73 Ezzzrve the ideals on which the constitution is B 3 142,152
' (52)

50

# The basic structure doctrine
The basic features of the Constitution have not been explicitly defined by the
Judiciary, and the claim of any particular feature of the Constitution to be a
“I::asnc feature is deterr‘mned t:n.-' the Court in each case that comes before it.

Judicial review is the power ofa high court to examine the constitutionality
of legisiative enactments an executive orders of both the Central and state
governments. On examination, if they are found to be violative of the
Constitution (ultra-vires), they can be declared as illegal, unconstitutional
and invalid (null and void) by the high court.

o Though the phrase ‘judicial review’ has nowhere been used in the
Constitution, the provisions of Articles 13 & 226 explicitly confer the
power of judicial review on a high court.

o The 42" Amendment Act of 1976 curtailed the judicial review power of

igh court. It debarred the high courts from considering the constitutional
of any central law. However, the 44th Amendment Act of 1977
e original position.

« The power of judiciary
may be described as the powers of Judicial Review. It means
that the constitution is the supreme law of the land and any law inconsistent
therewith is void through judicial review.
« Judicial review has , like, of legitimizing government
action and the protection of constitution against any undue encroachment by
the government.
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One common agreement between Gandhism and
Marxism is:
a) The final goal of a stateless society
74 A
b) Class struggle
c¢) Abolition of private property
d) Economic determinism
In context of India, which one of the following
characteristic is appropriate for bureaucracy?
a) An agency for widening the scope of parliamentary
democracy
75 b) An ager'my for strengthening the structure of D 3 200
federalism
c) An agency for facilitating political stability and
economic growth
d) d) An agency for the implementation of public
policy

« Bureaucracy plays its role in policy making in various ways. It helps the
executive in . preparing major policy
proposals, analyzing wvarious alternatives and solutions to societal problems
requiring urgent attention, dividing the major policies into sub-policies,
determining programmes of action and suggesting modification in the existing
policy on the basis of its experience on the implementation front.

« Their role can be categorized into three broad activities, informative, suggestive
and analytical:

The bureaucracy engages itself in collection of relevant
data and information in order to . The
government has to substantiate its policy proposal in order to get public

nport; the bureaucracy provides the relevant data for substantive policy

Bureaucracy, especially at the secretariat level, is considered
-tank’” of the government. It helps the political executive in
jcy Issues by suggesting about the nature of problems and
ing up a certain issue for consideration.

Analytical: palucracy plays a wvery significant analytical role in policy
the crucial issues requiring urgent attention are identified,
ined whether such issues could make viable policies or not.

The preamble of the Constitution of India is:

a) A part of constituent but has no legal effect.

b) Not a part of constitutive and has no legal effect
either.

76 ¢) .Apart of constitutive and has the same legal effect A 3 20
as any other part.

d) d) A part of constitution but has no legal effect

independently of other.

« In the (1973), the Supreme Court rejected the
earlier opinion and held that 9

Gold tranche (reserve tranche) refer to:
77 | a) A long system of the World Bank D 2 160
b) One of the operations of a central bank
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c) A credit systems and rate by WTO to its members
d) A credit system branded by IMF to its member

e Reserve Tranche Position: This is a separate
with IMF, where a part of foreign currency asset
this money for lending to countries with adverse bal
added in 2004.

With reference to the provision content in part 4 of the
Constitution of India which of the following statement is
are correct?

1. They shall be enforceable by court

2. They shall not be informal by any court

3. The principal laid down in this part are to influence
78 the making of law by the state D 3 50, 51

Select the correct answer during the code given below:
a) One only

b) 2 only

c) 1and 3 only

d) 2 and 3 only

Fights aim at Political Freedoms, DPSP aim at securing
economic and socia by appropriate state action

obligations on the state and give

positive action der to promote the wealfare of the people.

. which the Union and State governments must keep in

rmind while they formulate policy or pass a law.
& These directives are and therefc
for their enforcement (Article 37)

Consider the following statement:

1. According to the constitution of India a person who
is eligible to vote can be made a minister in a state
for 6 months however if he or she is not a member
of the legislature of that state.

2. According to the representation of peoples act 1951
a person convicted of a criminal offence and
sentenced to imprisonment for 5 years is
permanently disqualified from contesting an
election ever after his release from prison.

79

D 3 112 (S1)

Which of the statements given above is/are correct?
a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

« ANy person may be , bu
he doesn't become a member of the State Legislat
164).
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Consider the following statement?
1. The President of India can summon session of the
parliament at such place as he she thinks fit.
2. The Constitution of India provides for the session of
the parliament in a year, but it is not made
mandatory to conduct all three sessions.
30 3. There is no minimum number of days that the C 3 33

parliament is required to meet in a year.

Which of the statement given below is are correct?
a) lonly

b) 2 only

c) 1and 3 only

d) 2 and 3 only

« President has power to summon either house and has power to dissolve the Lok
. President must summon each house at such intervals that

tervene between its last sitting in one session and the first sitting of
Therefore, it is necessary that the Parliameant must

a year.
t generally meets in in a year:-
7 (longest session) - Jan - April
n - July - August
Test session) - Nowvember - December

With reference to carbon nanotubes, consider the

following statements:

1. They can be used as carriers of drugs and antigens
in the human body.

2. They can be made into artificial blood capillaries for
an injured part of human body.

3. They can be used in biochemical sensors.

81 | 4. Carbon nanotubes are biodegradable. D 4 250-251

Which of the following statements given above is/are
correct?

a)1and 2 only

b) 2,3 and 4 only

c) 13 and 4 only

d)1,2,3and 4
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« Carbon nanotubes (CNTs); also knmown as Bucky-tubes, are allotropes of
carbon . Their name is derived from their
size, since the diameter of a nanotube is on the order of a few nanometers
(approximately 1/ 50,000th of the width of a human hair), while they can be
up to 18 centimeters in length. Nanotubes are categorized as single-walled
and multi-walled nanotubes.

= Nanotubes are members of the fullerene structural family, which also includes
the bucky-balls. The ends of a nanotube might be capped with a
hemisphere of the buckyball structure. These cylindrical carbonmolecules have
novel properties that make them potentially useful in many applications in
nanotechnology, electronics, optics and other fields of materials science, as well
as potential uses in architectural fields. They exhibit
and electricalproperties, and are efficient thermal conductors.

: waterproof tear-resistant textiles
: scientists are working on combat jackets that use carbon
nanotubes as ultra-strong fibers and to monitor the condition of the wearer.
! In concrete, they increase the tensile strength & halt crack
propagation.
3P : Stronger and lighter equipments can be made.
sk, Carbon nanotubes may be able to replace steel in suspension

Ultrahigh-sp : The high strength/ weight ratic enables very
= achieved.

SRy covering material with a thin layer of bucky-paper
es its fire resistance due to the efficient reflection of heat
act layer of carbon nanotubes or carbon fibers.
Bucky-paper sheet made from nanotubes that are 250 times stronger
es lighter.

Chemical nano-wi : Carbon nanotubes additionally can also be used to
pf other chemicals, such as gold or zinc oxide.

(N1 AT R ETREDY : alternative to tungsten filaments in incandescent lamps.

: carbon nanotube diode has a ph
can act as a transparent conductive film to allo
photocurrent.
Nanotubes have superco

temperatures.
: Future applications of na
filtering carbon dioxide from power plant emission
: Nanotubes can be opened and
as biological molecules, raising the possibility of appli

: hanotube membranes have been develop
It can purportedly reduce desalination costs by 75%. Th
that small particles (like water molecules) can pass through the
particles (such as the chloride ions in salt) are blocked.

: For the thermal emission in the space such as space
satellites.
: Absorbance is high in wide ranges from FUW to FIR.

Consider the following activities:

1. Spraying pesticides on a crop field

2. Inspecting the craters is active volcanoes

3. Collecting breath samples from spouting whales for
DNA analysis At the present level of technology

82
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Which of the above activities can be successfully carried
out by using drones?
a)1land2only
b) 2 and 3 only
c) 1and 3 only
d) 1, 2and 3
The experiment will employ a trio of spacecraft flying in
formation in the shape of the equilateral triangle has
sides 1 million kilometre along with laser shining
between the graph the experiment in question refers to
83 D
a) Voyager-2
b) New horizons
c) LISA pathfinder
d) Evolved LISA
Consider the following statements:
1. Genetic change can be introduced in the cells that
produce egg or sperm of a prospective parent
2. A person's genome can be added before birth at the
early embryonic stage
3. Human induced pluripotent stem cells can be
84 injected into the embryo of a pig. D

Which of the statement given below is are correct:
a) 1 only

b) 2 and 3

c) 2 only

d)1,2and3

What is the importance of using pneumococcal

conjugate vaccines in India?

1. The vaccines are effective against pneumonia as
well as meningitis and sepsis

2. Dependence on antibiotic that are not effective
against drug- resistance bacteria can be reduced

3. This vaccines have no side effects and cause on

85 . . B
allergic reactions

Pick the correct answer using the codes given below:
a) 1only

b) 1 and 2 only

c) 3 only

d)1,2and3

In India the term "public key infrastructure" is used in
the contacts of

CA
a) Digital security infrastructure
12
86 b) Food security infrastructure A SuprrJ]Leme 9

c) Healthcare and education infrastructure
d) Telecommunication and transportation infrastructure
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Q:15) Consider the following statements
with respect to 'Biometric Seafarer
Identity Document (BSID)' :

1. India has become the first country in
the world to issue BSID.

2 It intends to capture the facial bio-
metric data of seafarers.

3. International labour Organization
(ILO) brought forward the ILO Convention
C-108 on Seafarers Identity Document for
identification of Seafarers.

4. India has ratified this convention in
2015.

Which of the statements given above
is/are correct?

1,2.3and 4
1.2 and 3 only
1 and 2 only
3 and 4 only

SOowy

Answer : A

Level : Hard

Subject : Current Affairs
Explanation :
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India has become the first country in the
world to issue Biometric Seafarer Identity
Document (BSID), capturing the facial bio-
metric data of seafarers.

The concept of a universal Identification
system for the seafarers was mooted in the
1950s. Accordingly, International labour
Organization (ILO) brought forward the
ILO Convention C-108 on seafarers Identity
Document.

India has ratified this convention in 2015
and issuing a Continuous Discharge
Certificate cum Seafarers Identity
Document to its seafarers in the form of a
booklet.

The world maritime community had felt the
need for a more uniform and robust
Identification system for the seafarer’s
consequent to the discussions

The new facial biometric technology is a
marked improvement over the two fingers
or iris-based bio-metric data, with modern
security features. It will make the
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identification of the SID holder more
reliable and efficient, while protecting their
dignity and privacy.

This is leading to the generation of
employment in the sector, which is evident
in the growing number of Indian seafarers
in the international shipping industry.

The new document will give a foolproof
identification to our seafarers which will
facilitate their movement, provide ease of
getting jobs and help in identifying them
from any location in the world.

The BSID introduces modern security
features. It will have a biometric chip
embedded in it. The security of the BSID
card is ensured at various levels and through
different methods. At the time of data
capturing the live face is cross-matched
through passport photo using a face
matching software. The card has two optical
security features- Micro prints/micro texts
and Unique Guilloche pattern. The software

has been developed for capturing the facial
biometrics and its authentication through
the public key infrastructure.

A record of each SID issued will be
maintained in a national database and its
related information will be internationally
accessible. In India, the BSID project has
been taken up in collaboration with Centre
for Development of Advanced Computing
(CDAC), Mumbai.

Source :
https://pib.gov.in/PressReleaselframePage.a
spx?PRID=1583253

87

Which of the following statements are correct regarding

the general difference between plants and animal cells?

1. Plant cell have cellulose cell walls whilst animals
cells do not

4 74-75
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2. Plant cells do not have plasma membrane unlike
animal cells which do
3. Mature plant cell has one large vacuole whilst
animal cell has many small vacuoles
Select the correct answer using the codes given:
a)1and 2 only
b) 2and 3
c) 1and 3 only
d) 1,2and 3
« These cells having and
and membrane bound organelles.
« They are of two types: and

A typical plant cell can be differentiated into 3 parts:
Nall

LLERCLGEIRe |- A typical animal cell cell & large as
lis.

Protoplasm
living subs of the cell. It is a viscous, fluid and is the
seat for all physio .
bre than 75% and less than 25% other materials
substances.

and

r r L}

acids are the most important.
+ The protoplasm of a cell can be distinguished in
consisting of cell organelles and

Which of the following are the reasons factors for
exposure to 2 benzene pollution?

1) Automobile exhaust

2) Tobacco smoke

3) Wood burning

4) Using varnished wooden furniture

88 | 5) Using products made of polyurethane. D 5 240

Select the correct answer using the codes given below
a)1,2and3only

b) 2 and 4 only

c) 1,3 and 4 only

d)1,2,3,4and5
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If other global financial crisis happens in the near
future, which of the following action/ policies are most
likely to given some immunity to India?
1. Not depending on short term foreign borrowing
2. Opening up to more foreign banks
89 3. Maintaining full capital account convertibility A
Select the correct answer using the codes given below:
a) 1 only
b) 1 and 2 only
c) 3only
d)1,2and3

If you withdraw 100000 in cash from your demand
deposit account at your bank, the immediate effect on
aggregate money supply in the economy will be:

90 | a) Toreduce it by 1,00,000 D 2 77,237
b) To increase in by 1,00,000

¢) To increase it by more than 1,00,000
d) To leave it unchanged

e Money aggregates are broad categories that measure the money
supply in an economy. Studying monetary aggregates can generate
substantial information on the financial stability and overall health of a
country. For example, monetary aggregates that grow at a too rapid pace
may cause fear of over inflation. If over inflation occurs, RBI may be forced to
raise interest rates or stop the growth in money supply.

M1 (Narrow Currency with public (Notes & Coins in circulation) - includes all
money) physical money: Cash with banks + Demand Deposits of banks
(which can be withdrawn without notice) + Deposits with RBI (liquid
assets, almost negligible). Narrow money is classified as M1 (MO +
demand accounts).

M2 M1 + Time liabilities portion of Savings Deposits with banks +
Certificate of Deposits issued by banks + Term Deposits maturing
within a year

M3 (Broad M2 + Time Deposits of banks with maturity over | year + Call/ Term
money) borrowing of the banking system

RBI also introduced new concept of Liquid Resources (L1, L2 and L3) which comprise
apart from M3, deposits with Post Offices, Fls and NBFCs.

Demand deposits of a bank are the amount in current/ saving accounts while Time
deposits of a bank are the amount in fixed accounts. Both are the liabilities of a bank.
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Money supply = The total stock of money in the economy; eurrency held by
the public plus money in accounts in banks. It consists
primarily currency in circulation and deposits in savings and
checking accounts.

= Too much money in relation to the sutput of goods tends
to push interest rates down and push inflation up; oo
little money tends to push rates up and prices down, causing
unemployment and idle plant capacity.

= The central bank manages the money supply by raising
and lowering the reserves banks are required to hold and
the discount rate at which they can borrow money from
the central bank. The central bank also trades gowvernment
securities (called repurchase agreements) to take money out
of the system or put it in.

= There are various measures of money supply, including M1,
M2, M3 and L; these are referred to as monetary aggregates.

With reference to the cultural history of India, which

one of the following is the correct description of the

term ‘Paramitas’?

a) The earliest Dharmashastra texts return in
aphoristic (Sutra) style

91 | b) Philosophical schools that did not accept the A 6 214
authority of Vedas

c) Forfections whose attainment led to the
Bodhisattva path

d) d) Powerful merchant guilds of early medieval
South India

M Prar?amita: Ten percepts (vows)
observed by monks.

In the context of Indian history, The Rakhmabai case of
1884 revolved around

1. Women'’s right to gain education

2. Age of consent

3. Restitution of conjugal rights

92 B
Select the correct answer using the code given below:
a)1and 2 only

b) 2 and 3 only

c)1and 3 only

d)1,2and3

Indigo cultivation in India declined by the beginning of

the 20th century because of

a) Peasant resistance to the oppressive conduct of
planters

93 | b) Its unprofitability in the world market because of B 6 187,188
new inventions

c) National leaders’ opposition to the cultivation of
indigo

d) d) Government control over the planters.
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mand worldwide. Trade in due to

the demand for blue dye in Europe. European plan
indigo and they forced Indian farmers to grow ind food crops
signing fraudulent deals with them.

« Farmer were for this purpose. Once
could never repay it due to the
oppressed if they could not pay the rent or refused to

« They were forced to
European planters’ profits.

« If a farmer refused to grow indigo and planted paddy insted
to illegal means to get the farmer to grow indigo such a
Crops, kidnapping the farmer’s family members, etc.

« All the farmers in the Barasat division of the districts
strike and refused to grow indigo. The strike spread to other parts of Bengal. The

farmers were led by the - Digambar Biswas and Bishnu Biswan
of Madia, Rafig Mondal of Malda and Kader Molla of Fabna.

« It was as by end of 1860, all exploitative indigo cultivation was
wiped out and Eurcpean planters left. It was greatly supported by intelligentsia
and newspapers. of Hindu Patriot played important
role in propaganda.

(1860) written by depicted the exploitation of
indigo growers by planters. Michael Madhusudan Dutta translated the play into
English

Wellesley established the Fort William College at

Calcutta because:

a) He was asked by the board of director at London to
do so

b) He wanted to review interest in Oriental learning in
India

¢) He wanted to provide William Carey and his
associate with employment

d) d) He wanted to train British civilians for
administrative purpose in India

94 B 6 150

Second Maratha war (1803-05) Fourth Mysore
war (1799) + Started Subsidiary Alllance Systern to achieve British paramountcy in
India Madras Presidency was formed during his tenure -+ Fort William college for
training of civil servants in 1800.

With reference to the history of India, "Ulgulan" or the
Great Tumult is the description of which of the
following events?

95 | a) The revolts of 1857 D 6 183
b) The Mappila Rebellion of 1921

¢) The indigo revolts of 1850-60

d) Bursa Munda's revolts of 1899-1900

+ The Mundas rose under Birsa Munda in a or rebellion
[_‘fUIguI_an“]_
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With reference to the scholars/ litterateurs of ancient
India, consider the following statements:
1. Panini is associated with Pushyamitra Shunga
2. Amarasimha is associated with Harshavardhana
3. Kalidasa is associated with Chandra gupta-ll 247
96 C 6 (L2),247
Which of the following given above is/are correct: (L3)
a)1land 2 only
b) 2 and 3 only
c) 3 only
d)1,2and3
= The drama written bvERUELELGEREI ]
Chandragupta’s succession by displacing his brd
was the of Gupta Empire. Cha
title of (Sun of power). "“WVikramadit
first time by the ruler of Ujjain in 57 BC after victo
s He extended the limits of the Empire through rriage alllances and
. He married a Naga princess. The Nagas we
who helped him expanding his empire. He married 3
to Vakataka prince Rudrasena-II in Central India. After the™
Prabhawvati became the virtual ruler. Chandragupta-II indirectly ru
kingdom in Central India.
= He defeated Shaka-Kshatrapa dynasty of Gujarat who were ruling for 4
centuries. Now Chandragupta had access to famous for
trade and commerce. This contributed to prosperity of Malwa and its chief city
Ujjain. ceems to the of Guptas.
» He defeated many foreign tribes of northwest and north. After defeating Sakas,
he was given the title of . He was the first Gupta king to start
in the Saka tradition. talks about his
congquests.
« From Chandragupta-II, kings of Gupta dynasty are known as
] (399-414), a Chinese Buddhist, visited India during his reign to collect
original texts related to Buddha. His works throw light on various aspects of
Chandragupta’s reign.
« His Ujjain court was adorned by 9 luminaries.
include -
Amarsinha Sanskrit lexicographer, wrote Sanskrit
Dhanwvantri Great physician
Harisena Composed or Allahabad Fillar Inscription.
Kalidasa Great poet, dramatist, and playwright. Authored
Kshapanaka Astrologer
Shanku Architect, expert in Geography.
Varahamihira Wrote world famous epic Brhatsamhita, mastery in Astrology,
Pancha-5Siddhantika, Porihat-Samhita and Porihat-Jataka.
Vararuchi Sanskrit Scholar, expert in Grammar.
Vetala Bhatta Magician in black magic and tantric sciences. Wrote
97 In the context of recent advances in human D
reproductive technology pronuclear transfer is used for:
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a) Fertilized of egg in vitro by the donor sperm

b) Genetic modification of sperm producing cells

c) Development of stem cells into functional embryos
d) Prevention of mitochondrial diseases in offspring

98

With the present state of development artificial
intelligence we can effectively do which of the
following? 1. Bring down electricity consumption in
industrial area 2. Create meaningful short stories and
songs

3. Disease diagnosis

4. Text to speech conversion

5. Wireless transmission of electrical energy

Select the correct answer using the codes given below
a)l,2,3and5

b)1,3and4

c) 2,4 and 5 only

d)1,2,3,4and5

99

With reference to the visual light communication VLC

technology which of the following statements are

correct?

1. VLC use electromagnet spectrum wavelength 375 to
780 nm

2. VLCis known as long range optical wireless
communication

3. VLC can transmit large amount of data faster than
Bluetooth

4. VLC has no electromagnet interference

Select the correct answer using the codes given below

a)1,2and3only

b)1,2,3and 4

c)1,2,3and 4

d) 2,3 and 4 only

100

With reference to “Blockchain Technology” consider the

following statement?

1. Itis a public ledger then everyone can in inspect but
which no single user controls

2. The structure and design of Blockchain is such that
all the data in it about cryptocurrency only.

3. Application that depend on basic features of
blockchain can be developed without anybody’s
permission

Which of the statement given below is are correct?

a) Lonly

b) 1 and 2 only

c) 2 only

d) 1 and 3 only
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